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myStack=[1,21,32,45]
print("Initial stack: ", myStack)

itk pop() (ot o) 1

: . . A3 (e das yiuell @l
print("The new stack after pop: ", myStack) L myStack-Pop() &l ¢y dax o2

myStack.append(78)
print("The new stack after push:

, myStack)

Initial stack: [1, 21, 32, 45]

45

32

The new stack after pop: [1, 21]

The new stack after push: [1, 21, 78]

myStack=[1,21,32,45]
print("Initial stack:", myStack)

aqlenfmystack) ( .- ) i o
print("size of stack",a) k""”"s’d“}}b"a)’dlendu‘f
# empty the stack

for i in range(a): ( . S .l
NES RSN Gl
myStack.pop() ) -

print(myStack) Luus-n-“oﬁ)-m\-i-dh,\s
myStack.pop()

Initial stack: [1, 21, 32, 45]
size of stack 4

[]
IndexError Traceback (most recent call last)
Input In [3], in O —

7 myStack.pop() uSeall o Uasetl ygbas

8 print(myStack) (o yal ~.-5_~;,°‘3@L~_o,

----> 9 myStack.pop() A ynic

IndexError: pop from empty list

IndexError . ,gal! Uas
oSk paid 3 Vs g folalt (ulSHH e yinie aia el Eoo€ Laaie Tas jogls daaSla
: e yaie (Bl Aglea ‘_}._éwlsﬁ 2 yuolic 359 (e 3amill Lags clie . (Stack Underflow)
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def push(stack,element):
stack.append(element)
def pop(stack):
return stack.pop()
def isEmpty(stack):
return len(stack)==0
def createStack():
return []

newStack=createStack()
while True:
print("The stack so far is:",newStack)
print("--------------mmmmm o ")
print("Choose 1 for push")
print("Choose 2 for pop")
print("Choose 3 for end")
print("---------------"----- - ")
choice=int(input("Enter your choice: "))
while choice!=1 and choice!=2 and choice!=3:
print ("Error")
choice=int(input("Enter your choice: "))
if choice==1:
x=int(input("Enter element for push: "))
push(newStack,x)
elif choice==2:
if not isEmpty(newStack):
print("The pop element is:",pop(newStack))
else:
print("The stack is empty")
else:
print("End of program")
break;



The stack so far is: []
Choose 1 for push

Choose 2 for pop

Choose 3 for end

Enter your choice: 1

Enter element for push: 26
The stack so far is: [26]
Choose 1 for push

Choose 2 for pop

Choose 3 for end

Enter your choice: 1

Enter element for push: 18
The stack so far is: [26, 18]
Choose 1 for push

Choose 2 for pop

Choose 3 for end

Enter your choice: 1

Enter element for push: 23
The stack so far is: [26, 18, 23]

Choose 1 for push

Choose 2 for pop

Choose 3 for end

Enter your choice: 2

The pop element is: 23
The stack so far is: [26, 18]
Choose 1 for push

Choose 2 for pop

Choose 3 for end

Enter your choice: 2

The pop element is: 18
The stack so far is: [26]
Choose 1 for push

Choose 2 for pop

Choose 3 for end

Enter your choice: 3

. End of program

o LS 3ol ol ) 5
AT B e LG Sail o
&Il 1 yenlinll Gl @

)442.1{‘«_&..4|
RN
el oo v
PR T
v 23
raiad| ol
QST M -

d/ 18

26 26 26

(@5 e ouiSH1 ye oy pumie Cai Y1 liSay

eobiall 250! 1,20 S

el e o]
aiall Bl
waSt (e
N
R —
- il bl
QuSL (0
23 N
_:_
23
18
18 18
26 26 26

bl (e 01,21 s




Jol Eooa el ALAL Suald 5 1 Sale caalasd . pgallall ga duin patcuan 201 LI enlsldl ISCun
: (First In First Out (FIFO) Rule) 5 L wiie el yloaadl Ll ypulls g L g 5691 ygllall . pagall clslen
LS AL A BLLl G pmiatl i A1 8kl (955 3T Gl I g1 351 Jes Lo -39
AT oIl a1 pnially sl S SBladl JSun 5 gsllall Vsl 4 ia g Al (PSS PUSPRUN [P |
izs Las < (First In First Out - FIFO) ¥ gi s ¥4 chlial i s0eld o
sl I s Jaong 5201 dndi i il a3 ygallall 2 pemic S ¢
o iSHI 2 451 58 sgallally (it O 3411
(L (ud (p pucrial] ik g AL @3
el il (o RBLYI @35 y9sllati 2.9

NEP NI PRPER (RPN (RPN KON (P 94 C;'m'i'jl‘_b. s ls_\g\é)

cBlial ! puaiall Caiims (oSt 2 Caimt |
iaial) Bl gullal! 2 Lain of 351

o ('Z°i“ter) ST Operations on the Queue jgsltalt 2 Cildaal
iy 9l O35 yudia 9b -5l Deallall 2 ol olilee wilia

astl sl e olgie
e L dmiiall @B dudy ) o JER )
ool e Jhd il LSl dada (po pimie Biat Lleall anzii:(Dequeue) Hgallall (ps paic i @

opllall 372 inie ZalsY dleall ‘a:x&a“ﬁ:(Enqueue))th.um Wls) @

spllall ggimll ] Jguns! g0 Ll
Queue Pointers jgslkall O podige

: (Index) (g2l .
L. N (O e Gle Hgallall (oo
c—m}nf\:j“ujzw%d‘ sl 2 g el L,Jl;)_*.ﬁ.:::(Front Pointer) ele¥! ,a3t! o

osllall 2 a0 fniatl 11,050 (Rear Pointer) ¥ ,a3tl o

s ic dalos|
i S
43 21 7 12 56 23 4 14 | 31 <:Jj
2 3 4 5 6 7 8 9 10

Dellall 2 eilleat! 11,22 IS5



Enqueue Operation jgUall ,nic 480 ddac

9 e 2Bl LliSey ¥ D9sllall paic 28Lo) @ wl Heolbll ) i mie dblol ddee e L;_Ua:

ogllatidawg (e 4Bl gl I was yjste 38LsY . (Enqueue)
ol pnlall aiinge A pdy Gz dalgdady alil L asllad sl @ @
LALA.; s
il alisl @ @
A B C D A B C |[¢1| D A B C
0 1 2 3 0 1 2 0 1 2
A el aic WALs) B

Dgollall yinie Aalosl dulee 11,23 S

e £lyn ] &1 Jb Dequeue Operation ;g 1e jaic (B> Adec

GILia OIS 3] Les Gasd)

S - - 2
ool 2 2 b T Luce -(Dequeue) jgllati (o juaie Bl @ul Hullall (4o ynie Bl dulec e 3l

S dly puaic SBlg3 Ll 8500 adl LAl jeniall (ol @
oy coale¥l il :;Jlul)m-u-‘ Bl
2 A o) yemiall I iy agmmy g By aLa¥1 5 550 BaB 5005 03 @
RTR]
_l_ Py Py Py
B | c| D ALl B| cl| D A|lB| cCc|D
0 1 2 0 1 2 3 0 1 2 3



Queue in Python (iald) Aal 2. yeslkal!

Jrad aslatl g |"" daas ‘.L'A&s)ﬁj (LIStS)pa‘yJ‘L@.muj_uLMMﬁ_u}undJ)baMJyUaﬂMuﬁm
ARSI Gl e juaie Bis g ASLEN Ll 2 junic A8l (S LeS %J\ML@\QAMW

Dgellall e Laiain (S il cilileat! Gaand Aslall gl L Legd @latiu

9alal 3 ke :1.3 Jou>

| aay lat!
gl Jied Gl aSLaN I X ypaiall capss | listName.append(x)
SN e S peniall Bl listName.pop(0)

Y (a1 ‘QM Lasie . 5_'U4J|ju_“.&1| @ilily JSLaa (e J<I listName. pop() 22,k ‘QM
)}AUAJ‘ = ‘a..\.aa_uu Laie J_ALLL‘ U'” s <L£La| J.Id.” L.._Ua.u Lq.A.u J_ALQ.A Lg\ J.'aj‘ L.:..Ua.u

oLsl 1.4 Jgasd! 46_‘4}6 odl ! oo 3,411 listName.pop (0)

listName.pop(0) 4dy o (slde listName.pop() 4dy b :1.4 Jouis

i gt | 2zt
oA S Ll ASLaN Glgh (o yun ¥ jmiall okl L la 1l JolaZ IS 151 | listName.pop ()
sollall Jias Sl ALY (e Jo¥) jumiall Calim) ol e Al JalaZ 0)1S 13) | listName.pop(0)

0l 3302 gulall et le Yl ol (o yaticaien

(453221 1) ala,¥ e degazme oyl galls 3 @

e GGV pemall CBhan (5 e sgallall (e pimie (Bl Aulec aniul @
Al o ade Lo Hellall Il raie 28Lo] ddec auniul @

® = = = o=

1 21 | 32 | 45 1 (<] 21 | 32 | 45 21 <1 32 | 45
1 2 3 ke (Bl 0 1 2 JURTIIYR 0 1
el e oelall e

0 1 OIS YRS 0 1 2
oslall




2 culad LaS o llatl S 2aind 05 %ldl 30313 aiiicdion (gl 25k eVl G gl il g ladtl Aoma 5o
el
‘).LI

myQueue=[1,21,32,45]
print("Initial queue: ", myQueue)
myQueue.pop(0)

myQueue.pop(0)

print("The new queue after pop: ", myQueue)
myQueue.append(78)

print("The new queue after push:

, myQueue)

Initial queue: [1, 21, 32, 45]
The new queue after pop: [32, 45]
The new queue after push: [32, 45, 78]

poliall fya el &)/.agui {7;‘ @L‘tjb)y&uﬁwd»djw LAJ.LC«D._\LJ.\BL&ML:LJ?Q

myQueue=[1,21,32,45]
print("Initial queue:
a=len(myQueue)
print("size of queue ",a)
# empty the queue

for i in range(a):

myQueue.pop(0)

print(myQueue)
myQueue.pop(0)

, myQueue)

Initial queue: [1, 21, 32, 45]
size of queue 4

[]

IndexError Traceback (most recent call last)
Input In [61, in O

7 myQueue.pop()

8 print(myQueue)
----> 9 myQueue.pop()

IndexError: pop from empty list
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Stack and Queue Using Queue Module
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.queueName dew! 12ua> el S5 | queueName=queue.Queue()

gl X yuniall Caps queueName.put(x)

oplall @z day 3905 queueName.qgsize()

S cym S s tallly yosUatl ooal oSl pecaiadl cBiiady  \2o pas queueName.get()

(Las) False edy  Litias jeullall lS Ol (mee) True dedy sga queueName.full()
138 €A e Leaadas (e (Ll ygllall oIS o)

(Las) False aaally Léjb”_)l_u\ OIS ol () True daiss 3903 queueName.empty()
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from queue import = N

.,,,'ua:bw;sinyqs&”,,,ua.uwts»yn‘;b}a?m

myQueue = Queue()

# add the elements in the queue gl clad¥ ada sl Heulladl 5us g “a.:\_:i.u.u:.h.u
myQueue.put("a") e
myQueue.put("b") relide JEL 108 2
myQueue.put("c") . . N
myQueue . put("d") (Queue) ygullalt ddaaddl 5usgdl Sl 0wl @
myQueue.put("e") YRIA] g,ztjraet.\xwy
# print the elements of the queue : (“.sjjf'ua) myQueue V“'”L' @Lb”"\b ‘u“'"; °
for element in list(myQueue.queue): Dsslatl e od e b iawsliadl dals| @
print(element) - -

(gllb) myQueue
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from queue import =

myQueue = Queue()

# the user enters the elements of the queue for i in range(5):

for i in range(5):
element=input("enter queue element: ")

myQueue.put(element)

# print the elements of the queue
for element in list(myQueue.queue):
print(element)

print ("Queue size is:

enter
enter
enter
enter
enter

12

23
Queue

queue
queue
queue
queue
queue

element:
element:
element:
element:
element:

size is: 5

from queue import =

myQueue = Queue()

myQueue.put("a"
myQueue.put("b"
myQueue.put("c"
myQueue.put("d"
myQueue.put("e"

)
)
)
)
)

", myQueue.qsize())

12

23

z
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checkFull=myQueue.full()

print("Is the queue full? ", checkFull)
checkEmpty= myQueue.empty()

print("Is the queue empty? ", checkEmpty)

Is the queue full? False
Is the queue empty? False
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.stackName dewl | 350> L#.\S.Zuuu stackName=queue.LifoQueue()

.wi\sil oo s pmall (Bla stackName.get()
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from queue import =

(58 Jaad LuoiSE 2 Ollaall O 8005

myStack = LifoQueue() (LIFO) ¥ i 7y 133 Coliat  5.se Las

myStack.put("a"
myStack.put("b"
myStack.put("c"
myStack.put("d"
myStack.put("e"

)
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(FIFO) ¥ 5l yns ¥ 5f Caliak i rc 15

for i in range(5):
k=myStack.get()
print(k)

# empty the stack
checkEmpty= myStack.empty()
print("Is the stack empty?", checkEmpty)

H Y TN QO ®

s the stack empty? True
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# import the queue library

from queue import =

# import the time library to use the sleep function

import time

# initialize the variables and the queue

printDocument = " "

printQueueSize = 0

printQueueMaxSize = 7

printQueue = Queue(printQueueMaxSize)

# add a document to print the queue

def addDocument(document):
printQueueSize = printQueue.qgsize()
if printQueueSize == printQueueMaxSize:

print("!! ", document, " was not sent to print queue.")
print("The print queue is full.")

print()

return

printQueue.put(document)
time.sleep(0.5) #Wait 5.0 seconds
print(document, " sent to print queue.")
printQueueSizeMessage()

# print a document from the print queue

def printDocument():
printQueueSize = printQueue.qgsize()

_.df printQueueSize ==
.e®0% print("!! The print queue is empty.")



print()
return
printDocument = printQueue.get()
time.sleep(1) # waitone second
print ("OK - ", printDocument,
printQueueSizeMessage()
# print a message with the size of the queue
def printQueueSizeMessage():
printQueueSize = printQueue.qsize()
if printQueueSize ==
print ("There are no documents waiting for printing.")

is printed.")

elif printQueueSize == 1:
print ("There is 1 document waiting for printing.")
else:
print ("There are ", printQueueSize, " documents waiting for printing.")

print()
# the main program
# send documents to the print queue for printing
addDocument("Document A")
addDocument("Document B"
addDocument("Document C
addDocument("Document D"
addDocument("Document E
addDocument("Document F
addDocument("Document G
printDocument()
addDocument("Document H")
printDocument()
addDocument("Document I")
printDocument()
addDocument("Document J"
addDocument("Document K"
printDocument()
printDocument()
printDocument()
printDocument()
printDocument()
printDocument()
printDocument()
printDocument()

Document A sent to print queue.
There is 1 document waiting for printing.

Document B sent to print queue.
There are 2 documents waiting for printing.

Document C sent to print queue.
There are 3 documents waiting for printing.



Document D sent to print queue.
There are 4 documents waiting for printing.

Document E sent to print queue.
There are 5 documents waiting for printing.

Document F sent to print queue.
There are 6 documents waiting for printing.

Document G sent to print queue.
There are 7 documents waiting for printing.

OK - Document A is printed.
There are 6 documents waiting for printing.

Document H sent to print queue.
There are 7 documents waiting for printing.

OK - Document B is printed.
There are 6 documents waiting for printing.

Document I sent to print queue.
There are 7 documents waiting for printing.

OK - Document C is printed.
There are 6 documents waiting for printing.

Document J sent to print queue.
There are 7 documents waiting for printing.

'l Document K was not sent to print queue.
The print queue is full.

OK - Document D is printed.
There are 6 documents waiting for printing.

OK - Document E is printed.
There are 5 documents waiting for printing.

OK - Document F is printed.
There are 4 documents waiting for printing.

OK - Document G is printed.
There are 3 documents waiting for printing.

OK - Document H is printed.
There are 2 documents waiting for printing.

OK - Document I is printed.
There is 1 document waiting for printing.

OK - Document J is printed.
There are no documents waiting for printing.

!l The print queue is empty.
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# single node
class Node:
def __init__(self, data, next=None):
self.data = data #node data
self.next = next # Pointer to the next node

# Create a single node
first = Node("Monday")
print(first.data)

Monday
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# single node
class Node:
def __init__(self, data = None, next=None):
self.data = data
self.next = next

# linked list with one head node
class LinkedList:
def __init__(self):
self.head = None

# list linked with a single node
Linkedlistl = LinkedList()
Linkedlistl.head = Node("Monday")
print(Linkedlistl.head.data)

Monday
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# single node
class Node:
def __init__(self, data = None, next=None):
self.data = data
self.next = next

# an empty linked list with a head node.
class LinkedList:
def __init__ (self):
self.head = None

# the main program

linked_list = LinkedList()

# the first node

linked_list.head = Node("Monday")

# the second node

linked_list.head.next = Node("Tuesday")

# the third node

linked_list.head.next.next = Node("Wednesday")

# print the linked list

node = linked_ list.head . S < . 2

whi'le node: - ( a.,\.a.co.Ad.a_uﬂWhI'e a)Lf.: ﬁ._\_zu..u
print (node.data) L Sl

node = node.next

Monday
Tuesday
Wednesday
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# single node
class Node:
def init_ (self, data = None, next=None):
self.data = data
self.next = next

# linked list with one head node
class LinkedList:
def __init__ (self):
self.head = None

def insertAfter(new, prev):
# create the new node
new_node = Node(new)
# make the next of the new node the same as the next of the previous node
new_node.next = prev.next
# make the next of the previous node the new node
prev.next = new_node

# create the linked list
L_list = LinkedList()

# add the first two nodes
L_list.head = Node(12)
second = Node(99)
L_list.head.next = second

# insert the new node after node 12 (the head of the list)
insertAfter(37, L_list.head)

# print the linked list
node = L_list.head
while node:
print (node.data)
node = node.next

12
37
99
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# single node
class Node:

def __init__(self, data = None, next=None):

self.data = data
self.next = next

# linked list with one head node
class LinkedList:
def __init__(self):
self.head = None

def deleteNode(key, follow):

# store the head node
temp = follow.head

# find the key to be deleted,
# the trace of the previous node to be changed
while(temp is not None):
if temp.data == key:
break
prev = temp
temp = temp.next

# unlink the node from the linked list
prev.next = temp.next
temp = None

# create the linked list
L_list = LinkedList()

# add the first three nodes
L_list.head = Node(12)
second = Node(37)

third = Node(99)
L_list.head.next = second
second.next = third

# delete node 37
deleteNode(37,L_1list)

# print the linked list
node = L_list.head
while node:
print (node.data)
node = node.next

12
99

{2 }> 37 r> 99 |e
node|

2 2 2
199 505a0L 12 3050 a5 dayyl L1
37 5054 aaal 2

"""" Q|| o9

rode]

node.next

A5l A=it).3

12} """" ’\] 99 [+ ©

ode SN ode et

0 ot o¥ 1 Buiall (Bl i 53 S 13
e Ja e (alay Tt AeSLal!

RQILAN (pe ALY BuGall S Gl




FLINES b Loid AilaLon Aot g Aovsouial | Aot | 30

A 5 bl Sla (ol gl 3at 1

P

dai gl o3 2 bl uslie 558 adasl cbibod! Sla .2

aall e Uyl (Linked List) adayl il 2aSlatl oo Ledioy usliall dalos] .3
.(List)

.; - - - e /q

B puaid g AL SLLAT ) JSLaa cns Sla s Y a0 e

5 5520 L JSlea Akl bl Sl

oyl 5T 051540 Slelasin Y Cntlie LS| e

®oq,
& - .
X X ) .
ew, *,.°,*




VA 18 Ol L G A wiiSee Sl 0

4&!0&@‘3&'%D}A}Bﬁch'&.a.!:'}"djjaﬂm:uafw °
LAY S a3 a8 g0 Iy S St Sl
ALY Sldaal! 255 o

| pop g push K gd push X gd pop gd pop g

350 3B La Adslud | Slileal| Batl das ilgid | ol ygla!
.Solall yast!

Olloal! 85 @3 (Ao Wb i gt (lSd Gt (gl gals yd | LS|
Awl@l gullal) A0S plusiuls oel 35St

1399959 23834 :@'Sﬂwﬁﬂ‘w‘ﬁeﬂ e

§ ygallall 31 e WL Amin gtl juolial| 28LoY deiiniud | Adeati Lo o

o lial d8lis) ey Hgallaldl JaS]

§ ygallall (po puoliall Chiimt Aolinicd | Adaalf Lo

§5 diexd (il pumiall (it Ao VL Ao gl Alaal| SLat Com b0 oS @

LBkt Hgalalf e Lan ¥ (5 sinld | A3l (ave d ! adadt | (S|




bt o Sl AeSLaN) 2 @uat) CaST @ (el i ALl @y AL adalf alusiuls 6

3= i,

.13 83453 2035 :Z\.ADJ!?LBJ;:{]@M@Z’E“ o

oy 50 AoSLAY) 2 dall gyl o

A5 03,01 ey 7 @8, 43l Ailes Lo

)

£

..\?J‘:Lojw“n.w)‘ °

hoSLaY! (pe ALY Budal! (it Aygllall Adeal! o o

.0@0 L
L e N
[ N ] @y o o B ® o

28, * " °* 0@
. . L]

pl =Tl ajlig

Ministry of Education
2025 - 1447

CAdlgd Alasl T8 AsSLat p_w)‘ °

52



B ot dasly

fhafi ok SERVPETE €]

Wi s Sl JSLa

www.ien.edu.sa

S ey S Aadad B ylay ) gLl yemiall o yumic JS Loy culasdl csBladl JSLa pinns ceeles gLl uyadl 2
§ pumie po 3T day O dn g jumiad (S S S e Sotas Juadedy ¢ LY Lgad e ¥ Als 2 5 Sl

Non-Linear Data Structures Z\,gaad‘).}c oblcd) (St

oo gil) ALY (gl 511 2 g ucmie (o Sy e dayy A51Sials ey ULl JSLis e 55 o
JS Ly aidasdl Ll JSLia edag 1.33 Ul bl eullala g 5Le a1 ibasd |yl elilad! Shaa le
sl e el

adasd| Sl ISk ddasd | Sliled | JSLea

AN
L N /X -

Tdasl i s ddaitl bl Sl omaingil! @1 :1.33 U

Adad)l il g Adadd) SBL! JSLa (s 3,4 119 Jous
adasdi Sblad! JSka
W ol (o sl lld] yuolie dayy Siay | 4 dai o Ao (o 5 2 @l slic 355
A Ay Boladl (p pemially pumie S

ety slie 2 Ll psbic o il ¥ ety slena® il yonlic i el

FVORSTIION cblad! st

e 4 ~...”*”J-G-“-'




Trees L™
wu}emwa);r_guj‘uj&uj Mha]‘fmul_'l_uﬂ JSLA.AO_A&j_'u_AJL‘Luly‘
.La.v.”Ja_\JJJj M‘un)ﬂ\j‘o»‘yom‘_js@ﬁ U.A)Ac_‘.uj.vic\_u)l‘ .La.d\
‘a.\.au.u (Chlld) t}db (Parent) MY‘UHJA:U:' ERSIPS C.Sj_su %d‘};-..”
u_'L.m}w)J‘j e Aol D2 Lasecewlsd! fa}\a QYL'zau.A auaal .BTJL'L&&‘
5wl 2 el 11,34 Jsa el i€ty e Lol e Sy Olat¥l g el ! el gd dalaily
3 pomdd ) Slo JSo 2 Aaudiiud | 3 pomdd ) AL Olomllaae

Tree Terminology Used in the Tree Data Structure

e 03yl (ye oW1 el 2 3Ty Jual Lt and S 3 o 01 2 5mgl5 Ag¥1 54l s (ROOE) it
.1.35 Ul 2 A sl

OBazls D 3zl ¢ 55 o H uiul : Jie «le¥! (5ianl] 2 50iiny 5 5lua dlag U1 0zl :(Child) g,a11 @
Aol le,oLea CyB

By D ciaiall Jual oa B 3azall : e« J5Y sgnaal| 2 3T o1 ¢ )5 Lgd ol 3zl :(Parent) Jua¥! o

Fazyet Ju‘m)ﬂomk_g‘mw._du_d‘ 3oall : :(Leaf) a3, gt11 o

olizas Ey D laalli fie cduwis Jusdl (ye 5L L3 Fuc yall il JS 3(Siblings) staz¥! e

By ddly el o Juat Gl dalg 11 <(Edges) caigamtt @

o_m..ﬂl.@u_._n 3 ymiidls Jie ez SV 3 e a1 il s w65 Gl @l il 2 (Sub- Tree)m,a.na),..‘m J
Ol yall Lea I3 H g lsaaally Jus¥l a D

Jad!

: (Tree) 3y
JSLed (e 9 o 3y il
0S8y cdaddl e bl
33510 aEl (e Ao gama (o

NEV B Ten PP

Jo¥! sgiat!

LI gl

:(Edge) dalsy)i

:
JS_J.A.\_Ezq\_'d_‘azz\_o.l;-J\ I G g
.3).?;45'“.” ‘LLLJ.'

Ay 8o L (35S 3
Q}SS .3..\:43 5..\.3.:0.5 Q“"

I gl
ik Adh B o1 B Bodall oiia
LY (Alaud 3 pouid | 020

J*a‘LGJL}“r.d tf"” ) oL
e il

byt el JSia 11.35 s




15yl bl JSea e Jlie Ly Lesag

Shioly L& 58 Bugal ()¢S5 ud
Bozall ¢ 58 duwd B gl 2
G sugall Joly Adslud!

Jo ¥ 5dall

| | |
( sgdall ) ( Haw ¥ > - i: : (m,.ap.n > CULQ,.‘S_:,MD
¢ p} Bazall ‘

GO

3yl bl JSea e Jle 11,36 U w

Tree Data Structure Features 5 yxid| SLLa IS (i bass
! dabos J—M—Jﬁ-\:—wj .

ABA> 9l 8y dill (o pcnic ABLS| Jguall (pa0 A9 AL et @

4 yolinll (e e dl Aggu ©

bt o AUl laMall Say @

Jlie

alome J3 1 uagn 137 JSAN 2 iy LaS 3 e il e S lee JLie ga Joa sl plx 2 olalll @b
Ol ondle le gy (Osildl oileg e ) Python Projects aewl jaT ulek (=laiid!) Documents

. | [A % on Projects
This PC ¢ e
Home Share View

[
| || « T 5 » ThisPC > Documents > Python Projects

LS

-
-~

| | g This PC Name
[30 Objectsj [Desktopj [Documentsj [Downloadsj [Musicj [Picturesj 2} 3D Objects [# Helloworld
[ Desktop [# infinite
[#) Documents
Alice
( Alice ) ( Python Projects ) Python Projects
4 Downloads

D Music

=] Pictures

Juiidl alli 2 elall) @la3:1.37 Ui




Osuld! ugald 3,25 :1.38 s

myTree = {

uau: ["b", "C"], #nOde

"b": ["d", "e"],

"c": [None, "f"I,
"d": [None, None],
"e": [None, None],
"f": [None, None],

}
print(myTree)

{lal: [lbl’ lcl]’ lbl:
'd': [None, Nonel], 'e':

Data Structures

(Linear) (Non-linear)

—

[ldl' lel]' ICI:
[None, Nonel, 'f': [None, Nonel}

(ree) Coreor)

n
_ (5"3“") (Queue>< Linked List )
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Tree Data Structure in Python
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[None, 'f'],
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myTree = {|["Data Structures"|:[["Linear"],["Non-Tlinear]"],
"Linear":["Stack","Queue","Linked List"],
"Non-linear":["Tree", "Graph"]}

for parent in myTree:
print(parent, "has",len(myTree[parent]), "nodes" )
for children in myTree[parent]:
print(" ",children)

Data structures has 2 nodes
Linear
Non-linear
Linear has 3 nodes
Stack
Queue
Linked List
Non-linear has 2 nodes
Tree
Graph
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myGraph = { "a" : ["b","c"],
||b|| : [ll ll' “d“],

"c" ¢ ["d", "e"],
"d" : [1,
"e" : [1,
}
print(myGraph)

{'a’: ['b', 'c'], 'b': ['c', 'd'], c': [d, e,
AL, e (1)
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# function for adding an edge to a graph
def addEdge(graph,u,v):
graph[u].append(v)

# function for generating the edges of a graph
def generate_edges(graph):
edges = []

# for each node in graph
for node in graph:



# for each neighbouring node of a single node
for neighbour in graph[node]:

# if edge exists then append to the list
edges.append((node, neighbour))
return edges

# main program
# initialisation of graph as dictionary

myGraph = {"a" : ["b","c"],
"b" : ["c", "d"],
"c" ¢ ["d", "e"],
"d" o [1,
"e" : [1,
}

# print the graph contents
print("The graph contents")
print(generate_edges(myGraph))

# add more edges to the graph
addEdge(myGraph,'a','e")
addEdge(myGraph, 'c','f")

# print the graph after adding new edges
print("The new graph after adding new edges")
print(generate_edges(myGraph))

The graph contents

[('a" 'b')l ('a" 'C')I (lbll 'C')I (lbll 'd')l (lcll 'd')l (lcll 'e')]
The new graph after adding new edges

[('a" 'b')l ('a" 'C')I ('a" 'e')l (lbll 'C')I (lbll 'd')l (lcll 'd')l
ety e, (e, )]
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def mySumGrade (gradeslList):
sumGrade=0
1=1len(gradeslList)
for i in range(l):

(T s et W1 e e 3,053 56

sumGrade=sumGrade+gradesList[i]

return sumGrade

def avgFunc (gradesList):
s=mySumGrade(gradesList)
1=1len(gradeslList)
avg=s/1
return avg

# program section
grades=[89,88,98,95]
averageGrade=avgFunc(grades)

Al e le oo
.mySumGrade

aild len() s pusiud
o g bt ‘Jé..\.é J.Al.ﬂ.;S

SN 2 oliall s

print ("The average grade is: ",averageGrade)

The average grade is: 92.5

e 3 oo 1

recurseFunction()
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Recursive Function 2.,/ 301 ¢ le il A1
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g i

# recursive function
def recurseFunction():
if (condition): # base case
statement
else:
#recursive call
recurseFunction()

# main program

# normal function call
recurseFunction()
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# calculate the factorial of an integer using iteration

def factoriallLoop(n):
result = 1
for i in range(2,n+1):
result = result = i

return result

# main program

num = int(input("Type a number: "))
f=factorialLoop(num)

print("The factorial of ", num, " is:", f)

Type a number: 3
The factorial of 3 is:6
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# calculate the factorial of an integer using a

# recursive function
\ def factorial(x):
@* (2) w9 pina > return 1
return (x actorial(x Sl
@*( (1) 29 s >) # main program
Y num = int(input("Type a number: "))
\ f=factorial(num)
print("The factorial of ", num, " is: ", f)
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Type a number: 3
The factorial of 3 is: 6
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def findMaxRecursion(A,n):

if n==1:

m = A[n-1]
else:

m = max(A[n-1],findMaxRecursion(A,n-1))
return m

def findMaxIteration(A,n):

m = A[0]

for i in range(1,n):
m = max(m,A[i])

return m

Aa il 13 juaiall MAX() ANl 7 il

.(myList 2 , S deET g3 puniall) , &Y

# main program

myList = [3,73,-5,42]

1 = len(myList)

myMaxRecursion = findMaxRecursion(myList,1)
print("Max with recursion is: ", myMaxRecursion)
myMaxIteration = findMaxIteration(myList,1)
print("Max with iteration is: ", myMaxIteration)

Max with recursion is: 73
Max with iteration is: 73

( max(A[3], findMaxRecursion(A, 3)) )

<< max(A[2], findMaxRecursion(A, 2)) )
\\
@ << max(A[1], findMaxRecursion(A, 1)) )
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def powerFunRecursive(baseNum,expNum):
if(expNum==1):
return(baseNum)
else:
return(baseNum+powerFunRecursive(baseNum,expNum-1))

def powerFunIteration(baseNum,expNum):

numPower = 1

for i in range(exp):
numPower = numPower=base

return numPower

# main program

base = int(input("Enter number: "))

exp = int(input("Enter exponent: "))
numPowerRecursion = powerFunRecursive(base,exp)

print( "Recursion: ", base, " raised to ", exp, " = ",numPowerRecursion)
numPowerIteration = powerFunIteration(base,exp)
print( "Iteration: ", base, " raised to ", exp, " = ",numPowerIteration)
Enter number: 10
Enter exponent: 3
Recursion: 10 raised to 3 = 1000
Iteration: 10 raised to 3 = 1000
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graph = {
||A|| . [llBll'llcll]’
uBu . [“D“,“E“],

"C" . [llFll]'
" D " : [ ] ,
" E " : [ ] ,
" Fu . [ ]
}
visitedBFS = [] #Listto keep track of visited nodes
queue = [] # Initialize a queue
# bfs function

_.eoc«def bfs(visited, graph, node):
“.ee visited.append(node)



queue.append(node)

while queue:
n = queue.pop(0)
print (n, end = " ")

for neighbor in graph[n]:
if neighbor not in visited:
visited.append(neighbor)

queue.append(neighbor)

# main program
bfs(visitedBFS, graph, "A")
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graph = {
"A" . ["B","C"],
IIBII : [IIDII’IIEII]'
||C|| : ["F"],
||D|| : []’
||E|| : []’
||F|| : []
}
visitedDFS = [] #list to keep track of visited nodes
# dfs function
def dfs(visited, graph, node):
if node not in visited:
print(node, end = " ") o e ox
visited.append(node) )’*“)ﬁ‘aiv‘j‘s‘jﬂ o
for neighbor in graph[node]: Juaaid e LAl juiSe pic 3 yalia
dfs(visited, graph, neighbor) gzaj(RuntimeStack)
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# main program
dfs(visitedDFS, graph, "A")
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import json #a library used to save and load JSON files
2 a0 1o
‘)ci g2l
¢ g DOOE # the file with the symptom mapping
symptom_mapping_file='symptom_mapping_v1.json'
l l # open the mapping JSON file and load it into a dictionary
o with open(symptom_mapping_file) as f:
3 2 T mapping=json.load(f)
—— ey
# print the JSON file
s bl gy alall Gagiedal) 2.8 JSi print(json.dumps(mapping, indent=2))
acfsall e @LaN e libas¥l c1S21
{

"diseases": {

"food poisoning": [
"vomiting",
"abdominal pain",
"diarrhea",
"fever"

]r

"kidney stones": [
"lower back pain",
"vomiting",
"fever"

]1

"appendicitis": [
"abdominal pain",
"vomiting",
"fever"
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def diagnose_vi(patient_symptoms:list):
diagnosis=[] # the list of possible diseases
if "vomiting" in patient_symptoms:
if "abdominal pain" in patient_symptoms:
if "diarrhea" in patient_symptoms:

# 1:vomiting, 2:abdominal pain, 3:diarrhea
diagnosis.append('food poisoning')

elif 'fever' in patient_symptoms:

# 1:vomiting, 2:abdominal pain, 3:fever
diagnosis.append('food poisoning')
diagnosis.append( 'appendicitis"')

elif "lower back pain" in patient_symptoms and 'fever' in patient_symptoms:

# 1:vomiting, 2:lower back pain, 3:fever
diagnosis.append( 'kidney stones')

elif "abdominal pain" in patient_symptoms and\
"diarrhea" in patient_symptoms and\
"fever" in patient_symptoms:\
# 1:abdominal pain, 2:diarrhea, 3:fever
diagnosis.append('food poisoning')

return diagnosis
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# Patient 1

my_symptoms=[ 'abdominal pain', 'fever', 'vomiting']
diagnosis=diagnose_v1(my_symptoms)

print('Most likely diagnosis:',diagnosis)

# Patient 2

my_symptoms=[ 'vomiting', 'lower back pain', 'fever' ]
diagnosis=diagnose_v1(my_symptoms)

print('Most likely diagnosis:',diagnosis)

# Patient 3

my_symptoms=["'fever', 'cough', 'vomiting']
diagnosis=diagnose_v1(my_symptoms)
print('Most likely diagnosis:',diagnosis)

Most likely diagnosis: ['food poisoning', 'appendicitis']
Most likely diagnosis: ['kidney stones']
Most likely diagnosis: []
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symptom_mapping_file='symptom_mapping_v2.json'

with open(symptom_mapping_file) as f
mapping=json.load(f)

print(json.dumps(mapping, indent=2))

{ "headache",
"diseases": { "tiredness",
"covid19": [ "stuffy nose",
"fever", "sneezing",
"headache", "sore throat",
"tiredness", "cough",
"sore throat", "runny nose"
llcoughll ]'
1, "allergies": [
"common cold": [ "headache",
"stuffy nose", "tiredness",
"runny nose", "stuffy nose",
"sneezing", "sneezing",
"sore throat", "cough",
"cough" "runny nose"
1, 1
“‘F.l.u“: }
"fever", }
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def diagnose_v2(patient_symptoms:list,
symptom_mapping_file:str,
matching_symptoms_lower_bound:int):

diagnosis=[]

with open(symptom_mapping_file) as f:
mapping=json.load(f)

# access the disease information
disease_info=mapping[ 'diseases’]

# for every disease
for disease in disease_info:

counter=0
disease_symptoms=disease_info[disease]

# for each patient symptom
for symptom in patient_symptoms:

# if this symptom is included in the known symptoms for the disease

if symptom in disease_symptoms:
counter+=1

if counter>=matching_symptoms_lower_bound:
diagnosis.append(disease)

return diagnosis
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# Patient 1

my_symptoms=["stuffy nose", "runny nose", "sneezing", "sore throat"]
diagnosis=diagnose_v2(my_symptoms, 'symptom_mapping_v2.json' , 3)
print('Most likely diagnosis:',diagnosis)

# Patient 2

my_symptoms=["stuffy nose", "runny nose", "sneezing", "sore throat"]
diagnosis=diagnose_v2(my_symptoms, 'symptom_mapping_v2.json' , &)
print('Most likely diagnosis:',diagnosis)

# Patient 3

my_symptoms=["'fever', 'cough', 'vomiting']
diagnosis=diagnose_v2(my_symptoms, 'symptom_mapping v2.json' , 3)
print('Most likely diagnosis:',diagnosis)

Most likely diagnosis: ['common cold', 'flu', 'allergies']
Most likely diagnosis: ['common cold']
Most likely diagnosis: []
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symptom_mapping_file="'symptom_mapping_v3.json'

with open(symptom_mapping_file) as f:
mapping=json.load(f)

print(json.dumps(mapping, indent=2))

{ "fever",
"diseases": { "headache",
"covid19": { "tiredness",
"very common": [ "sore throat",
"fever", "cough"
"tiredness", 1,
"cough" "less common": [
1, "stuffy nose",
"less common": [ "sneezing",
"headache", "runny nose"
"sore throat" 1
] b,
}, "allergies": {
"common cold": { "very common": [
"very common": [ "stuffy nose",
"stuffy nose", "sneezing",
"runny nose", "runny nose"
"sneezing", 1,
"sore throat" "less common": [
1, "headache",
"less common": [ "tiredness",
"cough" "cough"
] ]
b, }
"flu": { }

"very common": [ }
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from collections import defaultdict
def diagnose_v3(patient_symptoms:list,
symptom_mapping_file:str,
very_common_weight:float=1,
less_common_weight:float=0.5

E

with open(symptom_mapping_file) as f:
mapping=json.load(f)

disease_info=mapping[ 'diseases']

# holds a symptom-based score for each potential disease
disease_scores=defaultdict(int)

for disease in disease_info:

# get the very common symptoms of the disease
very_common_symptoms=disease_info[disease]['very common']

# get the less common symptoms for this disease
less_common_symptoms=disease_info[disease]['less common']

for symptom in patient_symptoms:

if symptom in very_common_symptoms:
disease_scores[disease]+=very_common_weight

elif symptom in less_common_symptoms:
disease_scores[disease]+=1ess_common_weight

# find the max score all candidate diseases
max_score=max(disease_scores.values())

if max_score==0:
return []

else:
# get all diseases that have the max score
diagnosis=[disease for disease in disease_scores if disease_scores
[disease]==max_score]

return diagnosis, max_score
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# Patient 1

my_symptoms=[ "headache", "tiredness", "cough"]
diagnosis=diagnose_v3(my_symptoms, 'symptom_mapping_v3.json')
print('Most likely diagnosis:',diagnosis)

# Patient 2

my_symptoms=["stuffy nose", "runny nose", "sneezing", "sore throat"]
diagnosis=diagnose_v3(my_symptoms, 'symptom_mapping_v3.json')
print('Most likely diagnosis:',diagnosis)

# Patient 3

my_symptoms=["stuffy nose", "runny nose", "sneezing", "sore throat"]
diagnosis=diagnose_v3(my_symptoms, 'symptom_mapping_v3.json', 1, 1)
print('Most likely diagnosis:',diagnosis)

Most likely diagnosis: (['flu'l, 3)
Most likely diagnosis: (['common cold'], &)
Most likely diagnosis: (['common cold', 'flu'l, 4)
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import pandas as pd #import pandas to load and process spreadsheet-type data
medical_dataset=pd.read_csv('medical_data.csv') #load a medical dataset.

medical_dataset

fever cough tiredness headache stuffy nose runny nose sneezing sore throat diagnosis

0 1 1 1 0 0 0 0 0 covid19
1 0 1 1 1 0 0 0 0 covid19
2 1 1 1 0 0 0 0 0 covid19
3 1 1 1 0 0 0 0 0 covid19
4 1 1 1 0 0 0 0 0 covid19
1995 0 1 0 0 1 (0] 1 1 common cold
1996 0 0 0 1 1 1 1 0 common cold
1997 0 0 1 0 1 0 0 1 common cold
1998 0 0 0 0 1 (0] 0 1 common cold
1999 0 1 0 0 0 (0] 1 1 common cold
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set(medical_dataset['diagnosis'])
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from sklearn.tree import DecisionTreeClassifier
def diagnose_v4(train_dataset:pd.DataFrame):

# create a DecisionTreeClassifier
model=DecisionTreeClassifier(random_state=1)

# drop the diagnosis column to get only the symptoms
train_patient_symptoms=train_dataset.drop(columns=["'diagnosis'])

# get the diagnosis column, to be used as the classification target
train_diagnoses=train_dataset[ 'diagnosis']

# build a decision tree
model.fit(train_patient_symptoms, train_diagnoses)

# return the trained model
return model
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from sklearn.model_selection import train_test_split

# use the function to split the data, get 30% for testing and 70% for training.
train_data, test_data = train_test_split(medical_dataset, test_size=0.3,
random_state=1)

#print the shapes (rows x columns) of the two datasets
print(train_data.shape)
print(test_data.shape)

(1400, 9)
(600, 9)
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from sklearn.tree import plot_tree
import matplotlib.pyplot as plt

my_tree=diagnose_v4(train_data) # train a model
print(my_tree.classes_) #print the possible target labels (diagnoses)
plt.figure(figsize=(12,6)) #size of the visualization, in inches
# plot the tree
plot_tree(my_tree,

max_depth=2,

fontsize=10,
feature_names=medical_dataset.columns[:-1]

)

['allergies' 'common cold' 'covid19' 'flu'l]

fever == 0.5
gini = 0.75
samples = 1400
value = [354, 345, 358, 343]

= T,

sore throat <= 0.5 sore throat <= 0.5
gini = 0.606 gini = 0.507
samples = 791 samples = 609
value = [354, 340, 71, 26] value = [0, 5, 287, 317]
runny nose <= 0.5 tiredness <= 0.5 sneezing <= 0.5 headache <= 0.5
gini = 0.497 gini = 0.182 gini = 0.387 gini = 0.309
samples = 526 samples = 265 samples = 317 samples = 292
value = [354, 101, 58, 13] value = [0, 239, 13, 13] value = [0, 2, 235, 80] value = [0, 3, 52, 237]

/N /N /N
I S E EEEEN

Crasiane ams (Gulall ~lilul) medical_data el degesl 5l yall 3 i g 3503 :12.13 IS




WM‘M@Mg@ﬂMKbL&A)&}JﬁM) )‘ﬂj‘o)muaﬁjﬁ_u)lplot tFEE()M‘AﬁM
.max depth,..:.d.\ plasiols Aggun @@ 01 10 dans (S a1 1] ALYl cdazs cnl syl

plot_tree(my_tree,
max_depth=2,
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sore throat <= 0.5 sore throat <= 0.5
gini = 0.606 gini = 0.507
samples = 791 samples = 609
value = [354, 340, 71, 26] value = [0, 5, 287, 317]
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runny nose <= 0.5 tiredness <= 0.5 sneezing <= 0.5 headache <= 0.5
gini = 0.497 gini = 0.182 gini = 0.387 gini = 0.309
samples = 526 samples = 265 samples = 317 samples = 292
value = [354, 101, 58, 13] value = [0, 239, 13, 13] value = [0, 2, 235, 80] value = [0, 3, 52, 237]
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# functions used to evaluate a classifier
from sklearn.metrics import accuracy_score,confusion_matrix

# drop the diagnosis column to get only the symptoms
test_patient_symptoms=test_data.drop(columns=["'diagnosis'])

# get the diagnosis column, to be used as the classification target
test_diagnoses=test_data[ 'diagnosis']

# guess the most likely diagnoses
pred=my_tree.predict(test_patient_symptoms)

# print the achieved accuracy score
accuracy_score(test_diagnoses,pred)

0.8166666666666667
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confusion_matrix(test_diagnoses,pred)

array([[143, 3, 0, 0],
[ 48, 98, 5, 4],
[ 2, 1, 127, 121,
[ 1, 3, 31, 12211)
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import numpy as np

# create a numeric 3 x 3 matrix full of zeros.
small_maze=np.zeros((3,3))

# coordinates of the cells occupied by blocks
bIOCkS:[(ly 1)1 (21 1)1 (21 2)]

for block in blocks:
# set the value of block-occupied cells to be equal to 1
small_maze[block]=1

small_maze

array([[0., 0., 0.1,
[0., 1., 0.],
(0., 1., 1.11)
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#

import random
random_maze=np.zeros((10,10))

# coordinates of 30 random cells occupied by blocks
blocks=[(random.randint(0,9),random.randint(0,9)) for i in range(30)]

for block in blocks:
random_maze[block]=1

sl Jen A0 A1l a2

import matplotlib.pyplot as plt #library used for visualization

def plot_maze(maze):

ax = plt.gca() # create a new figure
ax.invert_yaxis() # invert the y-axis to match the matrix
ax.axis('off"') # hide the axis labels

ax.set_aspect('equal') #make sure the cells are rectangular

plt.pcolormesh(maze, edgecolors='black', linewidth=2,cmap="Accent')
plt.show()

plot_maze(random_maze)
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def get_accessible_neighbors(maze:np.ndarray, cell:tuple):

# list of accessible neighbors, initialized to empty
neighbors=[]

x,y=cell

# for each adjacent cell position

x-1,y-1 x-1,y x-1, y+1
X, y-1 X,y X, y+1
x+1,y-1 x+1,y x+1, y+1

for i,j in [(x-1,y-1),(x-1,y),(x-1,y+1),(x,y-1),(x,y+1),(x+1,y-1),(x+1,y),

(x+1,y+1)]:

# if the adjacent cell is within the bounds of the grid and is not occupied by a block

if i>=0 and j>=0 and i<len(maze) and j<len(maze[0]) and

maze[(i,j)]==0:
neighbors.append(((i,j),1))

return neighbors
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0 1 2

[(Co, 1), 1), ((1, 0), 1)]

[((1, o), 1)1

# the starting cell (in the southwest corner) has only 1 accessible neighbor
get_accessible_neighbors(small_maze, (2,0))

s £
oot

# this cell is the northwest corner of the grid and has only 2 accessible neighbors
get_accessible_neighbors(small_maze, (0,0))
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Using BFS to Solve Maze Puzzles
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def reconstruct_shortest_path(parent:dict, start_cell:tuple, target_cell:tuple):
shortest_path = []
my_parent=target_cell #start with the target_cell

# keep going from parent to parent until the search cell has been reached
while my_parent!=start_cell:

shortest_path.append(my_parent) #append the parent

my_parent=parent[my_parent] # get the parent of the current parent
shortest_path.append(start_cell) #append the start cell to complete the path
shortest_path.reverse() #reverse the shortest path

return shortest_path

Jad ¥ 4 ol gLy Comdt dia )yl gt Jomtl sl saled Ll reconstruct_shortest path() s ﬁM
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from typing import Callable # used to call a function as an argument of another function

def bfs_maze_solver(start_cell:tuple,
target_cell:tuple,
maze:np.ndarray,
get_neighbors: Callable,
verbose:bool=False): # by default, suppresses descriptive output text

cell_visits=0 # keeps track of the number of cells that were visited during the search
visited = set() # keeps track of the cells that have already been visited
to_expand = [] # keeps track of the cells that have to be expanded

# add the start cell to the two lists

visited.add(start_cell)

to_expand.append(start_cell)

# remembers the shortest distance from the start cell to each other cell
shortest_distance = {}

# the shortest distance from the start cell to itself, zero



shortest_distance[start_cell] = 0

# remembers the direct parent of each cell on the shortest path from the start_cell to the cell
parent = {}

#the parent of the start cell is itself

parent[start_cell] = start_cell

while len(to_expand)>0:
next_cell = to_expand.pop(0) #getthe next cell and remove it from the expansion list

if verbose:
print('\nExpanding cell', next_cell)

# for each neighbor of this cell
for neighbor,cost in get_neighbors(maze, next_cell):

if verbose:
print('\tVisiting neighbor cell',neighbor)

cell _visits+=1
if neighbor not in visited: #ifthisis the first time this neighbor is visited

visited.add(neighbor)

to_expand.append(neighbor)

parent[neighbor]= next_cell
shortest_distance[neighbor]=shortest_distance[next_cell]+cost

# target reached
if neighbor==target_cell:

# get the shortest path to the target cell, reconstructed in reverse.
shortest_path = reconstruct_shortest_path(parent,
start_cell, target_cell)

return shortest_path, shortest_distance[target_cell],cell_visits
else: #this neighbor has been visited before
# if the current shortest distance to the neighbor is longer than the shortest
# distance to next_cell plus the cost of transitioning from next_cell to this neighbor
if shortest_distance[neighbor]>shortest_distance[next_cell]

+CoSst:

parent[neighbor]=next_cell
shortest_distance[neighbor]=shortest_distance[next_cell]+cost

# search complete but the target was never reached, no path exists
return None,None, None
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start_cell=(2,0) #start cell, marked by a star in the 3x3 maze
target_cell=(1,2) #target cell, marked by an "X" in the 3x3 maze

solution, distance, cell_visits=bfs_maze_solver(start_cell,
target_cell,
small_maze,
get_accessible_neighbors,
verbose=True)

print('\nShortest Path:', solution)

print('Cells on the Shortest Path:', len(solution))
print('Shortest Path Distance:', distance)
print('Number of cell visits:', cell_visits)

Expanding cell (2, 0)
Visiting neighbor cell (1, 0)

Expanding cell (1, 0)
Visiting neighbor cell (0, 0)
Visiting neighbor cell (0, 1)
Visiting neighbor cell (2, 0)

Expanding cell (0, 0)
Visiting neighbor cell (0, 1)
Visiting neighbor cell (1, 0)

Expanding cell (0, 1)
Visiting neighbor cell (0, 0)
Visiting neighbor cell (0, 2)
Visiting neighbor cell (1, 0)
Visiting neighbor cell (1, 2)

Shortest Path: [(2, 0), (1, 0), (o, 1), (1, 2)]
Cells on the Shortest Path: 4

Shortest Path Distance: 3

Number of cell visits: 10



‘\_IJ.A.C‘)JMOS-AJ Ly 10@.\44).4.43‘2‘)@1‘ A@‘L(BFS) tm3|mﬂ3hua.J|MJ)‘P?u
Ja.]a.zAuJ‘ J-Lu.ul‘ d;l&db@u‘)ﬁ.‘mmﬂ}@u (BFS) tMY‘Mﬁij‘M))‘P 4.5.\]41“_‘_7“.”
afusclly LgLiiass 33 Aalia i pas 01 S

o 1 2
—=0) (%)

1

(7)) ©ai—@)

aagiall s clslasl J_AZJ\‘,_LQM\@Z; uwymdg,»\,oﬁhiait@w
I Cye Lgdl Jwﬂnuswmw uwlw\sdu.ﬁ_éﬂuumwwyﬂuuw AL
o (BFS) &Lu.ﬁ" 4_13!3\; Comd | 4a)ylgx Jo 4\_‘,.4.11 el MW gual 6);.‘2(\ il a.,u.‘ju_ad\_zl"ﬁ\
Crios Aaa )yl g3l 0355 gl I 5Ll 5y (Unweighted Graphs) asghst! ,2 Slabhsdi Ul 3 4]
lS‘_}“Lr‘L,.u_"..,\Aj Lg.‘aﬂ‘uu.‘.ﬂ L)&ajlu.aamda\w@udqj‘)l_‘.ul\ﬂéjﬁ4_J>L5\344\4_d|¢.d>.
I Ll Sl ¢ Lgaa’ 22K L;,:.\ujtmwuymytdgu\sduwwjﬁL@M\ad\}q\ds
R RS- P I | \_x_g_b oJ_a.a.” alts A WYULHMPU}S_' 335a 3oae Al da) el a;_s_e-..»‘_g_x_n
Aa gl | 5zl Lg_mm‘,dt o 5L Aty o yaSy el e bfs_maze_solver()
C_Zﬁ Sl gLdl . (Weighted Graphs) ujjjxmua{u'..nu_\g Lmgill o2oa Guday (1S W eIl pay
:3x3 dalie dalaz’ i) (Weighted Version) L g) ge fylaws!

0 1 2

s3sl Lglabaia aalat) 12,21 Jsa
L gsbo (1Byi cLye Fles Ugin) 33891 51 2l 11 ISyl ALLEL Calgmdl S 03 (0980 JEL 12n 2
Balled i 2 Alle d (B, 8 Ry A8 Bgla ) B ylall St AL Calgmdl IS (335 0050 D pag
(0,2) <(0,1) <(0,0) «(1,0) «(2,0)] 52 yecm®¥ ;Leal 35w A9 3skl ALl 028 2.3 (golaay (A y
S=14+14+14+141 sa e dnliuss ([(1,2)

get_accessible_neighbors () a1l ¢y (y9st! 5lasyl ﬁ‘mb‘ S ,aSY AJ\:._"D.J_A)_LA)JUS.AA

def get_accessible_neighbors_weighted(maze:np.ndarray,
cell:tuple,
horizontal_vertical_weight:float,
diagonal_weight:float):



neighbors=[1]
x,y=cell

for i,j in [(x-1,y-1), (x-1,y+1), (x+1,y-1), (x+1,y+1)]1: #for diagonal neighbors

# if the cell is within the bounds of the grid and it is not occupied by a block
if i>=0 and j>=0 and i<len(maze) and j<len(maze[0]) and maze[(i,])]==0:

neighbors.append(((i,j), diagonal_weight))
for i,j in [(x-1,y), (x,y-1), (x,y+1), (x+1,y)]: #for horizontal and vertical neighbors
if i>=0 and j>=0 and i<len(maze) and j<len(maze[0]) and maze[(i,])]==0:
neighbors.append(((i,j), horizontal_vertical_weight))

return neighbors
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from functools import partial

start_cell=(2,0)

target_cell=(1,2)

horz_vert_w=1 # weight for horizontal and vertical moves
diag_w=3 # weight for diagonal moves

solution, distance, cell_visits=bfs_maze_solver(start_cell,
target_cell,
small_maze,
partial(get_accessible_neighbors_weighted,
horizontal_vertical_weight=horz_vert_w,
diagonal_weight=diag_w),
verbose=False)

print('\nShortest Path:', solution)

print('Cells on the Shortest Path:', len(solution))
print('Shortest Path Distance:', distance)
print('Number of cell visits:', cell_visits)

Shortest Path: [(2, 0), (1, 0), (0, 1), (1, 2)]
Cells on the Shortest Path: 4

Shortest Path Distance: 7

Number of cell visits: 6
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Using A* Search to Solve Maze Puzzles
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def constant_heuristic(candidate_cell:tuple, target_cell:tuple):

return 1
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def get_best_candidate(expansion_candidates:set,
shortest_distance:dict,
heuristic:Callable):

winner = None
# best (lowest) distance estimate found so far. Initialized to a very large number
best_estimate= sys.maxsize

for candidate in expansion_candidates:

# distance estimate from start to target, if this candidate is expanded next



candidate_estimate=shortest_distance[candidate]+heuristic(candidate,target_cell)
if candidate_estimate < best_estimate:

winner = candidate
best_estimate=candidate_estimate

return winner
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import sys
def astar_maze_solver(start_cell:tuple,
target_cell:tuple,
maze:np.ndarray,
get_neighbors: Callable,
heuristic:Callable,
verbose:bool=False):

cell_visits=0

shortest_distance = {}
shortest_distance[start_cell] =

parent = {}
parent[start_cell] = start_cell

expansion_candidates = set([start_cell])
fully_expanded = set()

# while there are still cells to be expanded
while len(expansion_candidates) > 0:

best_cell = get_best_candidate(expansion_candidates,shortest_distance,heuristic)
if best_cell == None: break
if verbose: print('\nExpanding cell', best_cell)

# if the target cell has been reached, reconstruct the shortest path and exit
if best_cell == target_cell:



shortest_path=reconstruct_shortest_path(parent,start_cell,target_cell)

return shortest_path, shortest_distance[target_cell],cell_visits
for neighbor,cost in get_neighbors(maze, best_cell):

if verbose: print('\nVisiting neighbor cell', neighbor)

cell_visits+=1

# first time this neighbor is reached
if neighbor not in expansion_candidates and neighbor not in fully_expanded:

expansion_candidates.add(neighbor)
parent[neighbor] = best_cell #mark the best cell as this neighbor's parent

# update the shortest distance for this neighbor
shortest_distance[neighbor] = shortest_distance[best_cell] + cost

# this neighbor has been visited before, but a better (shorter) path to it has just been found
elif shortest_distance[neighbor] > shortest_distance[best_cell] + cost:

shortest_distance[neighbor] = shortest_distance[best_cell] + cost
parent[neighbor] = best_cell
if neighbor in fully_expanded:
fully_expanded.remove(neighbor)
expansion_candidates.add(neighbor)

# all neighbors of best_cell have been inspected at this point
expansion_candidates.remove(best_cell)

fully_expanded.add(best_cell)

return None, None, None # no solution was found
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start_cell=(2,0)
target_cell=(1,2)

solution, distance, cell_visits=astar_maze_solver(start_cell,
target_cell,
small_maze,
get_accessible_neighbors,
constant_heuristic,
verbose=False)

print('\nShortest Path:', solution)

print('Cells on the Shortest Path:', len(solution))
print('Shortest Path Distance:', distance)
print('Number of cell visits:', cell_visits)

Shortest Path: [(2, 0), (1, 0), (o, 1), (1, 2)]
Cells on the Shortest Path: 4

Shortest Path Distance: 3

Number of cell visits: 12
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start_cell=(2,0)
target_cell=(1,2)

horz_vert_w=1 # weight for horizontal and vertical moves
diag_w=3 # weight for diagonal moves

solution, distance, cell_visits=astar_maze_solver(start cell,

target_cell,

small_maze,

partial(get_accessible_neighbors_weighted,
horizontal_vertical_weight=horz_vert_w,
diagonal_weight=diag_w),

constant_heuristic,

verbose=False)



print('\nShortest Path:', solution)

print('Cells on the Shortest Path:', len(solution))
print('Shortest Path Distance:', distance)
print('Number of cell visits:', cell_visits)

Shortest Path: [(2, @), (1, @), (e, ), (o, 1), (0, 2), (1, 2)]
Cells on the Shortest Path: 6

Shortest Path Distance: 5

Number of cell visits: 12

Ja:ﬁlfaﬁybulul“}mb Ligigll Ul > e astar_maze_solver() 3,3 g5l @:;
alasnl l..\,.qc_myu_mj 5Laydad Jlealaakn[(2.1)(2.0). (1 0) (0.0):(0.1).(0.2)]
LS aa Aoy )b@‘ﬁ|dz‘“bd“y‘d"1| A\m‘w@&;%mwum%))b}
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Jan STy L ST dalie 2 (A* search) Juad¥i i glols cosd!
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( (Raigiuall als11) target_cell )

big_maze=np.zeros((15,15))

# coordinates of the cells occupied by blocks

blocks=[(2,8), (2,9), (2,10), (2,11), (2,12),
(8,8), (8,9), (8,10), (8,11), (8,12),
(3,8), (4,8), (5,8), (6,8), (7,8),
(3,12), (4,12), (6,12), (7,12)]

for block in blocks:
# set the value of block-occupied cells to be equal to 1

Aaliell 30 gl Aty 4yl ! 351223 IS big_maze[block]=1

(aulodl 21s) start_cell )

u_” d}_‘a}U ujﬁbuﬁm‘uku;uacd)}d&uuh)}baﬂwﬁ_uﬂuhdfm 15x15 MLLU&..\.A
«_«:-..;J‘Ld:u.ﬂob‘j (BFS solver) thY' 4.}33}\.} M‘LM‘A‘A“QM ‘c_v Xaadatl J..\.'z-.l‘ caugll

sl 3, Aalill o2 (pe Lighsll jud g Eighsll il slas¥l Jt (A* search solver) Juad¥ias gt 5Ly

start_cell=(14,0) ._ )
Farget cell=(s.10)
solution_bfs_unw, distance_bfs_unw, cell_visits_bfs_unw=bfs_maze_solver(start_cell,
target_cell,
affiﬁ big_maze,
" hee get_accessible_neighbors,



verbose=False)

print('\nBFS unweighted."')

print('\nShortest Path:', solution_bfs_unw)

print('Cells on the Shortest Path:', len(solution_bfs_unw))
print('Shortest Path Distance:', distance_bfs_unw)
print('Number of cell visits:', cell_visits_bfs_unw)

solution_astar_unw, distance_astar_unw, cell_visits_astar_unw=astar_maze_solver(
start_cell,
target_cell,
big_maze,
get_accessible_neighbors,
constant_heuristic,
verbose=False)

print('\nA* Search unweighted with a constant heuristic.')
print('\nShortest Path:', solution_astar_unw)

print('Cells on the Shortest Path:', len(solution_astar_unw))
print('Shortest Path Distance:', distance_astar_unw)
print('Number of cell visits:', cell_visits_astar_unw)

BFS unweighted.

Shortest Path: [(14, 0), (13, 1), (12, 2), (11, 3), (10, 4), (9, 5), (8,
6), (8, 7), (9, 8), (9, 9), (9, 10), (9, 11), (9, 12), (8, 13), (7, 13),
(6, 13), (5, 12), (4, 11), (5, 10)]

Cells on the Shortest Path: 19

Shortest Path Distance: 18

Number of cell visits: 1237

A* Search unweighted with a constant heuristic.

Shortest Path: [(14, 0), (13, 1), (12, 2), (11, 3), (10, &), (10, 5), (10,
6), (9, 7), (9, 8), (10, 9), (9, 10), (9, 11), (9, 12), (8, 13), (7, 13),
(6, 13), (5, 12), (6, 11), (5, 10)]

Cells on the Shortest Path: 19

Shortest Path Distance: 18

Number of cell visits: 1272

start_cell=(14,0) 09398yl ¥
target_cell=(5,10)

horz_vert_w=1
diag_w=3

solution_bfs w, distance bfs w, cell visits_bfs w=bfs_maze solver(start_cell,
target_cell,



big_maze,

partial(get_accessible_neighbors_weighted,
horizontal_vertical_weight=horz_vert_w,
diagonal_weight=diag_w),

verbose=False)

print('\nBFS weighted.")

print('\nShortest Path:', solution_bfs_w)

print('Cells on the Shortest Path:', len(solution_bfs_w))
print('Shortest Path Distance:', distance_bfs_w)
print('Number of cell visits:', cell_visits_bfs_w)

solution_astar_w, distance_astar_w, cell_visits_astar_w=astar_maze_solver(start_cell,

target_cell,

big_maze,

partial(get_accessible_neighbors_weighted,
horizontal_vertical_weight=horz_vert_w,
diagonal_weight=diag_w),

constant_heuristic,

verbose=False)

print('\nA+ Search weighted with constant heuristic.')
print('\nShortest Path:', solution_astar_w)

print('Cells on the Shortest Path:', len(solution_astar_w))
print('Shortest Path Distance:', distance_astar_w)
print('Number of cell visits:', cell_visits_astar_w)

BFS weighted.

Shortest Path: [(14, 0), (14, 1), (14, 2), (13, 2), (13, 3), (12, 3), (12,
4), (11, 4), (11, 5), (10, 5), (10, 6), (9, 6), (9, 7), (9, 8), (9, 9), (9,
10), (9, 11), (9, 12), (9, 13), (8, 13), (7, 13), (6, 13), (5, 13), (5,
12), (4, 11), (5, 10)]

Cells on the Shortest Path: 26

Shortest Path Distance: 30

Number of cell visits: 1235

A* Search weighted with constant heuristic.

Shortest Path: [(14, 0), (13, 0), (12, 0), (11, o), (10, 0), (9, 0), (9,
1)] (91 2)] (91 3)] (91 4)] (91 5)] (91 6)] (91 7)] (91 8)] (91 9)] (91
10), (9, 11), (9, 12), (9, 13), (8, 13), (7, 13), (6, 13), (5, 13), (5,
12), (5, 11), (5, 10)]

Cells on the Shortest Path: 26

Shortest Path Distance: 25

Number of cell visits: 1245
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maze_bfs_w=big _maze.copy() maze_astar_w=big_maze.copy()
for cell in solution_bfs_w: for cell in solution_astar_w:
maze_bfs_w[cell]=2 maze_astar_w[cell]=2
plot_maze(maze_bfs_w) plot_maze(maze_astar_w)
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(Computational Complexity)
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def manhattan_heuristic(candidate_cell:tuple,target_cell:tuple):

x1,yl=candidate_cell
x2,y2=target_cell
return abs(xl - x2) + abs(yl - y2)

astar_maze_solver() @ed S J¥aiw¥ 12s alaseiwl 45180 HLasY L Gome pdl pdadtl addiy f
Agdpll yud g Bgdall ¥l (e JS Byl IS cmdl 2

start_cell=(14,0)
target_cell=(5,10)

solution_astar_unw_mn, distance_astar_unw_mn, cell_visits_astar_unw_mn=astar_
maze_solver(start_cell,

target_cell,

big _maze,

get_accessible_neighbors,

manhattan_heuristic,

verbose=False)

print('\nAx Search unweighted with the Manhattan heuristic.')
print('\nShortest Path:', solution_astar_unw_mn)

print('Cells on the Shortest Path:', len(solution_astar_unw_mn))
print('Shortest Path Distance:', distance_astar_unw_mn)
print('Number of cell visits:', cell_visits_astar_unw_mn)

horz_vert_w=1 # weight for horizontal and vertical moves
diag_w=3 # weight for diagonal moves

solution_astar_w_mn, distance_astar_w_mn, cell_visits_astar_w_mn=astar_maze_
solver(start_cell,
target_cell,
big_maze,
partial(get_accessible_neighbors_weighted,
horizontal_vertical_weight=horz_vert_w,
diagonal_weight=diag _w),
manhattan_heuristic,
verbose=False)

print('\nAx Search weighted with the Manhattan heuristic."')
print('\nShortest Path:', solution_astar_w_mn)

print('Cells on the Shortest Path:', len(solution_astar_w_mn))
print('Shortest Path Distance:', distance_astar_w_mn)
print('Number of cell visits:', cell_visits_astar_w_mn)



A Search unweighted with the Manhattan heuristic.

Shortest Path: [(14, 0), (13, 1), (12, 2), (11, 3), (10, 4), (9, 5), (8,
6), (8, 7), (9, 8), (9, 9), (9, 10), (9, 11), (9, 12), (8, 13), (7, 13),
(6, 13), (5, 12), (5, 11), (5, 10)]

Cells on the Shortest Path: 19

Shortest Path Distance: 18

Number of cell visits: 865

A Search weighted with the Manhattan heuristic.

Shortest Path: [(14, 0), (14, 1), (13, 1), (12, 1), (12, 2), (12, 3), (12,
4), (12, 5), (12, 6), (12, 7), (11, 7), (11, 8), (10, 8), (9, 8), (9, 9),
(9, 10), (9, 11), (9, 12), (9, 13), (8, 13), (7, 13), (6, 13), (5, 13), (5,
12), (5, 11), (5, 10)]

Cells on the Shortest Path: 26

Shortest Path Distance: 25

Number of cell visits: 1033
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%%capture # capture is used to suppress the installation output.

# install the pandas library, if it is missing.

'pip install pandas e———
import pandas as pd
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# load the train and testing data.
imdb_train_reviews=pd.read_csv('imdb_data/imdb_train.csv')
imdb_test_reviews=pd.read_csv('imdb_data/imdb_test.csv')

imdb_train_reviews

text label UEJ .3.3 IS & 1 ‘%_ %Y LnSﬁ
0 | grew up (b. 1965) watching and loving the Th... 0 DataFrame «;»LELH dcgan
1 When | put this movie in my DVD player, and sa... 0 dgae e téi" 3
2 Why do people who do not know what a particula... 0 . 1 ‘e
3 Even though | have great interest in Biblical ... 0 (i s 1) il @
4 Im a die hard Dads Army fan and nothing will e... 1 ) )
39995 "Western Union" is something of a forgotten cl... 1 el @ )
39996 This movie is an incredible piece of work. It ... 1
39997 My wife and | watched this movie because we pl... 0 ( s @ )
39998 When | first watched Flatliners, | was amazed.... 1
39999 Why would this film be so good, but only gross... 1 ¢ .
Leoes sy 3 0 el
40000 rows x 2 columns Gl U fos 1 dewat! L

L}i.hi‘ oyl «;anL_u dcgazxa :3.3 IS

e yam e A1 LAV g oo pol Aliel 2 Aliiie il puitte ] @il il Borac] il o A1 Bolasl
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# extract the text from the 'text' column for both training and testing.

X_train_text=imdb_train_reviews['text'] g 5
2 sale Yo X O 3,31 actsntics

X_test_text=imdb_test_reviews['text'] i . y 2
QUL‘HJ‘QQ X).f.ﬂ._f.‘: 4:.-51“‘.\.1:«.”

# extract the labels from the 'label’ column for both training and testing. all (e Vg it als ot
Y_train=imdb_train_reviews[ 'label'] JAd gl !
Y_test=imdb_test_reviews[ 'label']
X_train_text #training data in text format

0 I grew up (b. 1965) watching and loving the Th...
i When T put this movie in my DVD player, and sa...
2 Why do people who do not know what a particula...
3 Even though I have great interest in Biblical ...
A Im a die hard Dads Army fan and nothing will e...
39995 "Western Union" is something of a forgotten cl...
39996 This movie is an incredible piece of work. It ...
39997 My wife and I watched this movie because we pl...

39998 When I first watched Flatliners, I was amazed....
39999 Why would this film be so good, but conly gross...
Name: text, Length: 40000, dtype: object

DataFrame cbly fegams (e (X___train___text) co,ul atial (e 3550 :3.4 US4
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from sklearn.feature_extraction.text import CountVectorizer

# the min_df parameter is used to ignore terms that appear in less than 10 reviews.
vectorizer vl = CountVectorizer(min_df=10)

vectorizer_vi.fit(X_train_text) #fit the vectorizer on the training data.
# use the fitted vectorizer to vectorize the data.

X_train_v1 = vectorizer_vil.transform(X_train_text)

X_train_vi

" <40000x23392 sparse matrix of type '<class 'numpy.int64'>'
with 5301561 stored elements in Compressed Sparse Row format>



# expand the sparse data into a sparse matrix format, where each column represents a different word.
X_train_v1_dense=pd.DataFrame(X_train_vil.toarray(),

columns=vectorizer_vil.get_feature_names_out())
X_train_v1_dense

00 000 0O7 01 02 04 05 06 07 08 .. zoo zoom zooming zooms zorro zu zucco zucker zulu lber

0 0 o0 0 0 0 0 0 0 O 0. 0 ] 0 0 00 1] 0 0 ]

1 0 0 ¢ 0 9 0 0 0 0 D0 . 0 0 ] 1] 0 0 0 0 ¢] 0

2 0 6 0 0 0 @ 0 0 ¢ 0. 0 1] o ] 00 o 0 0 ]

3 0 o 0 0 0 0 0 0 O 0. ] ] ] 1] 00 1] 0 ] ]

4 0 o 0 0 0 0 0 0 0 0. 0 1] 0 0 00 ] 0 ] 0
39995 O o0 0 0 0 G 0 0 @ D . a ] 0 ] o0 o 0 ] ]
39996 O o 0 0 0O 0 0 0 O 0 . 0 1] 0 0 00 a 0 ] 0
39897 0 0 0 0 0 0 0 0 0O 0 . 0 0 0 4] 0 0 0 0 0] 0]
30998 O g 0 0 0 0 0 0 O 0 . 0 0 0 0 00 '] 0 ] 0
39998 (O 2 0 0 0 0 0 0 0 O . a 0 0 0 00 o 0 0 0

40000 rows * 23392 columns
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from sys import getsizeof

print('\nMegaBytes of RAM memory used by the raw text format:'
getsizeof(X_train_text)/1000000)

print('\nMegaBytes of RAM memory used by the dense matrix format:'
getsizeof(X_train_v1_dense)/1000000)

print('\nMegaBytes of RAM memory used by the sparse format:'
getsizeof(X_train_v1)/1000000)

MegaBytes of RAM memory used by the raw text format: 54.864133
MegaBytes of RAM memory used by the dense matrix format: 7485.440144

MegaBytes of RAM memory used by the sparse format: 4.8e-05
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# delete the dense matrix.
del X_train_vi1_dense
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Building a Prediction Pipeline

Ll 55 1a Ol clgail Ly oyl bl JLiied (e ci€ia oo i (31
clatall fpe Legh auiiaio ol alially . Jo¥ sl bl das Ly o
paiug e« (Naive Bayes Classifier) zalutt jub u_m;. i)
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OdlSw AiSe (yo (Multir\&omial NB) zalwd! 3ol M d..;.dm AL oyl pdadll o
:algail b IMDDb Cayucdl bl Gle da gl @laall #3943 co 0 (Sklearn Library)

from sklearn.naive_bayes import MultinomialNB

model_vi1=MultinomialNB() # a Naive Bayes Classifier

model_vi.fit(X_train_vi1, Y_train) #fit the classifier on the vectorized training data.

from sklearn.pipeline import make_pipeline

# create a prediction pipeline: first vectorize using vectorizer_v1, then use model_v1 to predict.
prediction_pipeline_vl = make_pipeline(vectorizer_v1, model_v1)

it 09 o lma¥) @umill 1 03,01 Lgid s o 3l Agaimn o oma pull o bl 1 s < JU Jes e

1 tbedd!

prediction_pipeline_vil.predict(['One of the best movies of the year. Excellent

array([1, 0], dtype=int64)

cast and very interesting plot.'
'T was very disappointed with his film. I
lost all interest after 30 minutes' 1)
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prediction_pipeline_vil.predict_proba(['One of the best movies of the year. Ex
cellent cast and very interesting plot.'
‘I was very disappointed with his film.
I lost all interest after 30 minutes' ])

array([[0.08310769, 0.91689231],
[0.83173475, 0.16826525]1])
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# use the pipeline to predict the labels of the testing data.
predictions_v1 = prediction_pipeline_vil.predict(X_test_text) # vectorize the text
data, then predict.

predictions_v1
array([0, 0, 0, ..., 0, 0, 0], dtype=int64)
uj.uws..umuﬂ(Confusmn Matrlx) .u!m}mm@mjufjs_wmuﬂaccuracy score()

F1 b))u.u\_mj me‘j LM}J‘}L;LCMy‘j (Aasudl: d_m‘_g).:ﬂ g«.«.‘.a.ou_uul.mdm; (SCIkIt PlOt)

from sklearn.metrics import accuracy_score
accuracy_score(Y_test, predictions_v1) #get the achieved accuracy.

0.8468



%%capture
I'pip install scikit-plot; #install the scikit-plot library, if it is missing.
import scikitplot; #importthe library

class_names=["'neg', 'pos'] # pick intuitive names for the 0 and 1 labels.

# plot the confusion matrix.
scikitplot.metrics.plot_confusion_matrix(
[class_names[i] for i in Y_test],

[class_names[i] for i in predictions_vi],
s s title="Confusion Matrix", #title to use
~Aadgiall @uall cmap="Purples", #color palette to use

figsize=(5,5) #figure size
g
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%%capture

'pip install lime #install the lime library, if it is missing
from lime.lime_text import LimeTextExplainer

# create a local explainer for explaining individual predictions
explainer_v1l = LimeTextExplainer(class_names=class_names)

# an example of an obviously negative review

easy_example='This movie was horrible. The actors were terrible and the plot
was very boring.'

# use the prediction pipeline to get the prediction probabilities for this example

print(prediction_pipeline_v1.predict_proba([easy_example]))

[[0.99874831 0.00125169]]
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# explain the prediction for this example.

exp = explainer_vil.explain_instance(easy_example.lower(),
prediction_pipeline_vl.predict_proba,
num_features=10) —

# print the words with the strongest influence on the prediction.

exp.as_list()

[('terrible', -0.07046118794796816),
('horrible', -0.06841672591649835),
('boring', -0.05909016205135171),
('plot', -0.024063095577996376),
('was', -0.014436071624747861),
('movie', -0.011956911011210977),
('actors', -0.011682594571408675),
('this', -0.009712387273986628),
('very', 0.008956707731803237),
('were', |-0.008897098392433257))1]
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# visualize the impact of the most influential words.
fig = exp.as_pyplot_figure()

Local explanation for class pos

terrible 1
horrible 1
boring 4
plot 1
was
movie -
actors 1
this -
very 1
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exp.show_in_notebook()
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# an example of a positive review that is mis-classified as negative by prediction_pipeline_v1
mistake_example= X_test_text[4600]
mistake_example

"I personally thought the movie was pretty good, very good acting by
Tadanobu Asano of Ichi the Killer fame. I really can't say much about the
story, but there were parts that confused me a little too much, and overall
I thought the movie was just too lengthy. Other than that however, the
movie contained superb acting great fighting and a lot of the locations
were beautifully shot, great effects, and a lot of sword play. Another
solid effort by Tadanobu Asano in my opinion. Well I really can't say
anymore about the movie, but if you're only outlook on Asian cinema is
Crouching Tiger Hidden Dragon or House of Flying Daggers, I would suggest
you trying to rent it, but if you're a die-hard Asian cinema fan I would
say this has to be in your collection very good Japanese film."



# get the correct labels of this example.
print('Correct Label:', class_names[Y_test[4600]])

# get the prediction probabilities for this example.
print('Prediction Probabilities for neg, pos:',
prediction_pipeline_vil.predict_proba([mistake_example]))

Correct Label: pos
Prediction Probabilities for neg, pos: [[0.8367931 0.1632069]]
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# explain the prediction for this example.

exp = explainer_vl.explain_instance(mistake_example, prediction_pipeline_
vl.predict_proba, num_features=10)

# visualize the explanation.
fig = exp.as_pyplot_figure()

Local explanation for class pos
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Improving Text Vectorization
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%%capture

'pip install nltk #install nltk

'pip install gensim #install gensim

import nltk #import nltk

nltk.download('punkt') #install nltk's tokenization tool, used to split a text into sentences.

import re #importre

from gensim.models.phrases import Phrases, ENGLISH_CONNECTOR_WORDS # import tools

from the gensim library.
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# convert a given doc to a list of tokenized sentences.

def tokenize_doc(doc:str):

return [re.findall(r'\b\w+\b',

@iﬁsent_tokenize() als
RPERTIOVE W PR [V- I

sent.lower()) for sent in nltk.sent_tokenize(doc)]
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‘tokenize_doc() &l aluiiuly @il le Ylie ol
raw_text='The movie was too long. I fell asleep after the first 2 hours.'

tokenized_sentences=tokenize_doc(raw_text)
tokenized_sentences

[['the', 'movie', 'was', 'too', 'long'],
['i', 'fell', 'asleep', 'after', 'the', 'first', '2', 'hours']]
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sentences=[] #list of all the tokenized sentences across all the docs in this dataset

for doc in X_train_text: #foreach doc in this dataset
sentences+=tokenize_doc(doc) #get the list of tokenized sentences in this doc

# build a phrase model on the given data

imdb_phrase_model = Phrases(sentences,e
connector_words=ENGLISH_CONNECTOR_WORDS,0
scoring="npmi',
threshold=0.25).freeze() o
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imdb_phrase_model[tokenized_sentences[0]]
['the', 'movie', 'was', 'too_long']
imdb_phrase_model[tokenized_sentences[1]]

['i', 'fell_asleep', 'after', 'the', 'first', '2_hours']

(13> Juske) t00_long, (Laks daz ) fell_asleep : Ll gnitl e el slae 25345 55luall £ 35ad 30
233,54l LglelS cpa 53T cilaglen o Lgaan g (2clw—2) 2_hourss

Juske) t00_long 55Lue Jrami (JLAI s e
~% ™ [long | T too O e ol e ity Bl yeldie (10

e - e 013033 (Ungl) long (1) 100 2
fell_asleep| 1= [ asleep | T [ fell | *=50 O pldl et Jillog cntapdie ol
Al AV i @ liall daal 50 2 (@5L) asleep

suomdf Glaaad | B v ﬂ + g Bl Jogs (LG daz ) fell_asleep 3 Lualle
hours 2 2_hours ;ys daiiiwd | yusly Lagsy ,is]
a3 eiil] 13 Bbuls T lma¥ el 13.12 < 2 el e s HaST Bl (3elw-2)

3a> le S hours,
tollans 3359 2 ol plaall yacadth IS gy ol aadl iy 51] A1 A1 i

def annotate_phrases(doc:str, phrase_model):
sentences=tokenize_doc(doc)# split the document into tokenized sentences.

tokens=[1] #/list of all the words and phrases found in the doc

for sentence in sentences: # foreach sentence
# use the phrase model to get tokens and append them to the list.
tokens+=phrase_model[sentence]

return ' '.join(tokens) #join all the tokens together to create a new annotated document.

O oLy oyl culeds (e JS puwdit annotate_phrases( ) atls Ll ome pull pladl) ansiwn
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# annotate all the test and train reviews.
X_train_text_annotated=[annotate_phrases(doc,imdb_phrase_model) for doc in X_
train_text]
:‘- _X_test_text_annotated:[annotate_phrases(text,imdb_phrase_model)for text in X_
 test_text]
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# an example of an annotated document from the imdb training data
X_train_text_annotated[0]

'i_grew up b 1965 watching and loving the thunderbirds all my_mates at school watched
we played thunderbirds before school during lunch and after school we all wanted to
be virgil or scott no_one wanted to be alan counting down from 5 became an art_form

i took my children to see the movie hoping they would get_a_glimpse of what i_loved
as a child how bitterly disappointing the only high_point was the snappy theme_tune
not that it could compare with the original score of the thunderbirds thankfully
early saturday_mornings one television_channel still plays reruns of the series
gerry_anderson and his_wife created jonatha frakes should hand in his directors chair
his version was completely hopeless a waste of film utter_rubbish a cgi remake may_be
acceptable but replacing marionettes with homo_sapiens subsp sapiens was a huge error
of judgment'
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from sklearn.feature_extraction.text import TfidfVectorizer

# Train a TF-IDF model with the IMDb training dataset

vectorizer tf = TfidfVectorizer(min_df=10)
vectorizer_tf.fit(X_train_text_annotated)

X_train_tf = vectorizer_tf.transform(X_train_text_annotated)
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# train a new Naive Bayes Classifier on the newly vectorized data.
model_tf =MultinomialNB()
model _tf.fit(X_train_v2, Y_train)

# create a new prediction pipeline.
prediction_pipeline_tf = make_pipeline(vectorizer_tf, model_tf)

# get predictions using the new pipeline.
predictions_tf = prediction_pipeline_tf.predict(X_test_text_annotated)

# print the achieved accuracy.
accuracy_score(Y_test, predictions_tf)

0.8858
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# get the review example that confused the previous algorithm
mistake_example_annotated=X_test_text_annotated[4600]

print('\nReview:',mistake_example_annotated)

# get the correct labels of this example.
print('\nCorrect Label:', class_names[Y_test[4600]])

# get the prediction probabilities for this example.
print('\nPrediction Probabilities for neg, pos:',prediction_pipeline_
tf.predict_proba([mistake_example_annotated]))

Review: i_personally thought the movie was_pretty good very_good acting by tadanobu_
asano of ichi_the_killer fame i really can_t say much about the story but there_were
parts that confused me a little_too much and overall i_thought the movie was just too
lengthy other_than that however the movie contained superb_acting great fighting and
a lot of the locations were beautifully_shot great effects and a lot of sword play
another solid effort by tadanobu_asano in my_opinion well i really can_t say anymore
about the movie but if_you re only outlook on asian_cinema is crouching_tiger hidden_
dragon or house of flying_daggers i_would suggest_you trying to rent_it but if_you re
a die_hard asian_cinema fan i_would say this has to be in your_collection very_good
japanese film

Correct Label: pos

Prediction Probabilities for neg, pos: [[0.32116538 0.67883462]]
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# create an explainer.
explainer_tf = LimeTextExplainer(class_names=class_names)

# explain the prediction of the second pipeline for this example.
exp = explainer_tf.explain_instance(mistake_example_annotated, prediction_

pipeline_tf.predict_proba, num_features=10)

# visualize the results.
fig = exp.as_pyplot_figure()

Local explanation for class pos
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from .naive_bayes import MultinomialNB

from sklearn.pipeline import make_pipeline

from sklearn.feature_extraction.text import

vectorizer = (min_df=10)
vectorizer.fit( ) #fits the vectorizer on the training data
X_train = vectorizer. (X_train_text) #uses the fitted vectorizer to vectorize the data

model_MNB=MultinomiaNB() # a Naive Bayes Classifier

model_MNB.fit(X_train, ) #fits the classifier on the vectorized training data

prediction_pipeline = make_pipeline( , )
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from import LimeTextExplainer

text_example="I really enjoyed this movie, the actors were excellent"
class_names=["'neg', 'pos'] #creates a local explainer for explaining individual predictions

explainer = (class_names=class_names) # explains the prediction for this example
exp = explainer. (text_example.lower(),prediction_pipeline. ,

=10) # focuses the explainer on the 10 most influential features

_ :_'prji:n;(exp . ) # prints the words with the highest influence on the prediction
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Using Unsupervised Learning to Understand Text
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: (Dimensionality Reduction)
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BBC open dataset

https./;www .kaggle.com/datasets/shivamkushwaha,bbc-full-text-document-classification

D. Greene and P. Cunningham. "Practical Solutions to the Problem of Diagonal Dominance in Kernel Document Clustering",Proc.
ICML 2006. All rights, including copyright, in the content of the original articles are owned by the BBC.

# used to list all the files and subfolders in a given folder

from os import listdir

# used for generating random number
import random shuffling lists

bbc_docs=[1 # holds the text of the articles
bbc_labels=[] # holds the news section for each article

for folder in listdir('bbc'): # for each news-section folder
for file in listdir('bbc/'+folder): #foreach text file in this folder

# open the text file, use encoding="utf8' because articles may include non-ascii characters
with open('bbc/'+folder+'/'+file,encoding="'utf8"',errors="ignore') as f:
bbc_docs.append(f.read()) #read the text of the article and append to the docs list

# use the name of the folder (news section) as a label for this doc
bbc_labels.append(folder)

# shuffle the docs and labels lists in parallel

merged = list(zip(bbc_docs, bbc_labels)) #link the two lists

random.shuffle(merged) # shuffle them in parallel (with the same random order)

*vobc_docs, bbc_labels = zip(+merged) # separate them again into individual lists.
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Selecting the Number of Clusters
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# used for tfi-df vectorization, as seen in the previous unit

from sklearn.feature_extraction.text import TfidfVectorizer
from sklearn.cluster import AgglomerativeClustering # used for agglomerative clustering

# used to visualize and support hierarchical clustering tasks
import scipy.cluster.hierarchy as hierarchy

# set the color palette to be used by the 'hierarchy' tool.
hierarchy.set_link_color_palette

(['blue','green','red', 'yellow', 'brown', 'purple', 'orange', 'pink', 'black'])

import matplotlib.pyplot as plt # used for general visualizations

Text Vectorization o guaidl 4B LY done y-d1
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vectorizer = TfidfVectorizer(min_df=10) # apply tf-idf vectorization, ignore words that
appear in more than 10 docs.

text_tfidf=vectorizer.fit_transform(bbc_docs) #fit and transform in one line

text_tfidf

<2225x5867 sparse matrix of type '<class 'numpy.float64'>'
with 392379 stored elements in Compressed Sparse Row format>
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%%capture
I'pip install yellowbrick

from yellowbrick.text import TSNEVisualizer
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print('Number of unique words in the BBC documents vectors:'
len(vectorizer.get_feature_names_out()))

Number of unique words in the BBC documents vectors: 5867
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tsne = TSNEVisualizer(colors=['blue', 'green','red', 'yellow', 'brown'])
tsne.fit(text_tfidf,bbc_labels)
tsne.show();

TSNE Projection of 2225 Documents
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plt.figure() #create a new empty figure
# iteratively merge points and clusters until all points belong to a single cluster
# return the linkage of the produced tree

linkage_tfidf=hierarchy.linkage(text_tfidf.toarray(),method="ward")

# visualize the linkage
hierarchy.dendrogram(linkage_tfidf)

# show the figure
plt.show()
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AC_tfidf=AgglomerativeClustering(linkage="ward',n_clusters=7) #prepare the tool,
set the number of clusters.

AC_tfidf.fit(text_tfidf.toarray()) #apply the tool to the vectorized BBC data.
pred_tfidf=AC_tfidf.labels_ # get the cluster labels.

pred_tfidf

array([6, 2, 4, ..., 6, 3, 5], dtype=int64)
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from sklearn.metrics import homogeneity_score,adjusted_rand_
score,completeness_score

print('\nHomogeneity score:',homogeneity_score(bbc_labels,pred_tfidf))
print('\nAdjusted Rand score:',adjusted_rand_score(bbc_labels,pred_tfidf))
print('\nCompleteness score:',completeness_score(bbc_labels,pred_tfidf))

Homogeneity score: 0.6224333236569846 aqyupﬂoigie\AAgluJL%UBT)L}d‘
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Adjusted Rand score: 0.4630492696176891
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AC_tfidf=AgglomerativeClustering(linkage="'ward',n_clusters=5)
AC_tfidf.fit(text_tfidf.toarray())
pred_tfidf=AC_tfidf.labels_

print('\nHomogeneity score:',homogeneity_score(bbc_labels,pred_tfidf))
print('\nAdjusted Rand score:',adjusted_rand_score(bbc_labels,pred_tfidf))

print('\nCompleteness score:',completeness_score(bbc_labels,pred_tfidf))
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Adjusted Rand score: 0.45628412883628383
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Word Vectorization with Neural Networks
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import gensim.downloader as api

model_wv = api.load('word2vec-google-news-300")
LS S day 5 3l 128 fox_emb=model_wv['fox"']

,J,jgoobﬁwfgﬁ iy print(len(fox_emb))

300
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fox_emb[:10]

array([—0.08203125, -0.01379395, -0.3125 , -0.04125977, 0.05493164,
-0.12988281, -0.10107422, -0.00164795, 0.15917969, 0.12402344],
dtype=float32)
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pairs = [
('car', 'minivan'),
('car', 'bicycle'),
('car', 'airplane'),
('car', 'street'),

('car', 'apple'),
]
for wl, w2 in pairs:
print(wl, w2, model_wv.similarity(wl, w2))

car minivan 0.69070363
car bicycle 0.5364484
car airplane 0.42435578
car street 0.33141237
car apple 0.12830706
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print(model_wv.most_similar(positive=['apple'], topn=5))

[('apples', 0.720359742641449), ('pear', 0.6450697183609009),
('fruit', 0.6410146355628967), ('berry', 0.6302295327186584), ('pears',
0.613396167755127)]
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%%capture

import nltk #import the nitk library for nip.

import re #import the re library for regular expressions.

import numpy as np # used for numeric computations

from collections import Counter # used to count the frequency of elements in a given list
from sklearn.manifold import TSNE # Tool used for Dimensionality Reduction.

# download the 'stopwords' tool from the nltk library. It includes very common words for different
languages
nltk.download('stopwords"')

from nltk.corpus import stopwords #import the 'stopwords'tool.

stop=set(stopwords.words('english')) #load the set of english stopwords.
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def get_sample(bbc_docs:list,
bbc_labels:list ] )
): A(0g9950) are 9 (0s2) is 9 (J1) the o (1) a oo (Stopwords)
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word_sample=set() #asample of words from the BBC dataset

# for each BBC news section
for label in ['business', 'entertainment', 'politics', 'sport', 'tech']:

# get all the words in this news section, ignore stopwords.
# for each BBC doc and for each word in the BBC doc
# if the word belongs to the label and is not a stopword and is included in the Word2Vec model
label_words=[word for i in range(len(bbc_docs))
for word in re.findall(r'\b\w\w+\b',bbc_docs[i].lower())
if bbc_labels[i]==1abel and
word not in stop and
word in model_wv]

cnt=Counter(label_words) # count the frequency of each word in this news section.
# get the top 50 most frequent words in this section.
top50=[word for word,freq in cnt.most_common(50)]

# add the top50 words to the word sample.
word_sample.update(top50)

word_sample=1list(word_sample) # convert the set to a list.
return word_sample

: ‘word_sample=get_sample(bbc_docs,bbc_labels)
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Sentence Vectorization with Deep Learning
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%%capture

I'pip install sentence_transformers
from sentence_transformers import SentenceTransformer

model = SentenceTransformer('all-MinilM-L6-v2') #load the pre-trained model.

.text_emb = model.encode(bbc_docs) #embed the BBC documents.
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tsne = TSNEVisualizer(colors=['blue', 'green','red',  'yellow', 'brown'])
tsne.fit(text_emb,bbc_labels)
tsne.show();

TSNE Projection of 2225 Documents

BN business
B anierainment
N politics

. ech
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plt.figure() #create a new figure.
# iteratively merge points and clusters until all points belong to a single cluster. Return the the linkage of
the produced tree.

linkage_emb=hierarchy.linkage(text_emb, method='ward')

hierarchy.dendrogram(linkage_emb) # visualize the linkage.
plt.show() #show the figure.
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AC_emb=AgglomerativeClustering(linkage="ward',n_clusters=4)
AC_emb.fit(text_emb)
pred_emb=AC_emb.labels_

print('\nHomogeneity score:',homogeneity_score(bbc_labels,pred_emb))
print('\nAdjusted Rand score:',adjusted_rand_score(bbc_labels,pred_emb))
print('\nCompleteness score:',completeness_score(bbc_labels,pred_emb))

Homogeneity score: 0.6741395570357063
Adjusted Rand score: 0.6919474005627763

Completeness score: 0.7965514907905805

ISl summl] 2Vl ss3ialla cablie 5 (e pumenll suall alaiialy Lossesd salel @& ud eliladl cols (3]
A gl e S (5S¢l ] @i o)le]

AC_emb=AgglomerativeClustering(linkage="ward',n_clusters=5)
AC_emb.fit(text_emb)
pred_emb=AC_emb.labels_

print('\nHomogeneity score:',homogeneity score(bbc_labels,pred_emb))
print('\nAdjusted Rand score:',adjusted_rand_score(bbc_labels,pred_emb))
print('\nCompleteness score:',completeness_score(bbc_labels,pred_emb))

Homogeneity score: 0.7865655030556284
Adjusted Rand score: 0.8197670431956582

Completeness score: 0.7887580797775077
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from sentence_transformers import

from import TSNEVisualizer model = ('all-MinilLM-

L6-v2') #loads the pre-trained model.

docs_emb = model. (Docs) #embeds the docs
tsne = (777 =['blue','green','red', 'yellow'])
tsne. ( ) )

tsne.show();
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import gensim.downloader as
import re
model_wv = . ('word2vec-google-news-300")
old_sentence="'My name is John and I like basketball.'
new_sentence=""
for word in re. (r'\b\w\w+\b"',old_sentence.lower()):

replacement=model_wv. (positive=['apple'], =1)[0]

new_sentence+=

.séntence=new_sentence.strip()
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%%capture

!'pip install wonderwords
# used to generate template-based randomized sentences
from wonderwords.random_sentence import RandomSentence

# make a new generator with specific words

generator=RandomSentence(
# specify some nouns
nouns=["lion", "rabbit", "horse","table"],
verbs=["eat","run", "laugh"], # specify some verbs.
adjectives=["'angry', 'small']) #specify some adjectives.

# generates a sentence with the following template: [subject (noun)] [predicate (verb)]
generator.bare_bone_sentence()

'The table runs.'

# generates a sentence with the following template:
# the [(adjective)] [subject (noun)] [predicate (verb)] [direct object (noun)]
generator.sentence()

'The small lion runs rabbit.'
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def paraphrase(text:str, #textto be paraphrased
stop:set, #setof stopwords
model_wv,# Word2Vec Model
lexical_sim_ubound:float, #upper bound on lexical similarity
semantic_sim_lbound:float #lower bound on semantic similarity

):
words=word_tokenize(text) # tokenizes the text to words
new_words=[1 # new words that will replace the old ones.
for word in words: #forevery word in the text
word_l=word.lower() #lower-case the word.

# if the word is a stopword or is not included in the Word2Vec model, do not try to replace it.
if word_1 in stop or word_1 not in model_wv:
new_words.append(word) # append the original word

else: #otherwise

# get the 10 most similar words, as per the Word2Vec model.
# returned words are sorted from most to least similar to the original.
# semantic similarity is always between 0 and 1.
replacement_words=model_wv.most_similar(positive=[word_1],
topn=10)
# for each candidate replacement word
for rword, sem_sim in replacement_words:
# get the lexical similarity between the candidate and the original word.
# the partial_ratio function returns values between 0 and 100.
# it compares the shorter of the two words with all equal-sized substrings
# of the original word.
—° lex_sim=fuzz.partial_ratio(word_1,rword)

# if the lexical sim is less than the bound, stop and use this candidate.
if lex_sim<lexical_sim_ubound:
break

( fuzzywuzzy 458 I s fuzz )




# quality check: if the chosen candidate is not semantically similar enough to
# the original, then just use the original word.
if sem_sim<semantic_sim_lbound:
new_words.append(word)
else: #use the candidate.
new_words.append(rword)

return '.join(new_words) # re-join the new words into a single string and return.
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%%capture

import gensim.downloader as api # used to download and load a pre-trained Word2Vec model
model_wv = api.load('word2vec-google-news-300")

import nltk

# used to split a piece of text into words. Maintains punctuations as separate tokens
from nltk import word_tokenize

nltk.download('stopwords') # downloads the stopwords tool of the nltk library
# used to get list of very common words in different languages

from nltk.corpus import stopwords
stop=set(stopwords.words('english')) #gets the list of english stopwords

'pip install fuzzywuzzy[speedup]
from fuzzywuzzy import fuzz

text="'We had dinner at this restaurant yesterday. It is very close to my
house. All my friends were there, we had a great time. The location is
excellent and the steaks were delicious. I will definitely return soon, highly
recommended! '

# parameters: target text, stopwords, Word2Vec model, upper bound on lexical similarity, lower bound
on semantic similarity

paraphrase(text, stop, model_wv, 80, 0.5)

'We had brunch at this eatery Monday. It is very close to my bungalow. All
my acquaintances were there, we had a terrific day. The locale is terrific
and the tenderloin were delicious. I will certainly rejoin quickly, hugely
advised!'
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# reads the input document that we want to summarize
with open('article.txt',encoding="utf8',errors="'ignore') as f: text=f.read()

text[:100] #shows the first 100 characters of the article

'It was a consecration, the spiritual overtones entirely appropriate.
Lionel Messi not only emulated '
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import re # used for regular expressions

# tokenize the document, ignore stopwords, focus only on words included in the Word2Vec model.
tokenized _doc=[word for word in re.findall(r'\b\w\w+\b',text.lower()) if word
not in stop and word in model_wv]

# get the vocabulary (set of unique words).
vocab=set(tokenized_doc)
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# tool used to create combinations (e.g. pairs, triplets) of the elements in a list
from itertools import combinations
import networkx as nx # python library for processing graphs

def build_graph(vocab:set, #setof unique words
model_wv # Word2Vec model
DE
# gets all possible pairs of words in the doc
pairs=combinations(vocab,2)

G=nx.Graph() # makes a new graph

for wi,w2 in pairs: #forevery pair of words wl, w2
sim=model_wv.similarity(wl, w2) # gets the similarity between the two words
G.add_edge(wl,w2,weight=sim)

return G

# creates a graph for the vocabulary of the World Cup document
G=build_graph(vocab,model_wv)

# prints the weight of the edge (semantic similarity) between the two words
G['referee'][ 'goalkeeper']

{'weight': 0.40646762}
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from networkx.algorithms.community import louvain_communities
from collections import Counter # used to count the frequency of elements in a list

def get_communities( G, #theinputgraph
tokenized_doc:list): #the list of words in a tokenized document

# gets the communities in the graph
communities=Tlouvain_communities(G, weight="weight"')
word_cnt=Counter(tokenized_doc)# counts the frequency of each word in the doc
word_to_community={}# maps each word to its community
community_scores={}# maps each community to a frequency score
for comm in communities: # for each community
# convert it from a set to a tuple so that it can be used as a dictionary key.
comm=tuple(comm)
score=0 #initialize the community score to 0.
for word in comm: # for each word in the community
word_to_community[word]=comm # map the word to the community
score+=word_cnt[word] # add the frequency of the word to the community's score.

community_scores[comm]=score # map the community to the score.

return word_to_community, community_scores



word_to_community, community_scores = get_communities(G,tokenized_doc)
word_to_community['player'][:10] # prints 10 words from the community of the word 'team’

('champion',
'stretch’',
'finished',
"fifth',
‘playing’,
'scoring’,
'scorer',
‘opening’,
"team',
'win')
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from nltk import sent_tokenize # used to split a document into sentences

def evaluate_sentences(doc:str, #original document
word_to_community:dict,# maps each word to its community
community_scores:dict, #mapseach community to a score
model_wv): # Word2Vec model

# splits the text into sentences
sentences=sent_tokenize(doc)
scored_sentences=[ ]# stores (sentence, score) tuples

for raw_sent in sentences: #foreach sentence

# get all the words in the sentence, ignore stopwords and focus only on words that are in the
Word2Vec model.
sentence_words=[word
for word in re.findall(r'\b\w\w+\b',raw_sent.lower()) # tokenizes
if word not in stop and #ignores stopwords



word in model_wv] #ignores words that are not in the Word2Vec model
sentence_score=0 # the score of the sentence
for word in sentence_words: # for each word in the sentence

word_comm=word_to_community[word] # get the community of this word
sentence_score+=community_scores[word_comm] # add the score of this
community to the sentence score.

scored_sentences.append((sentence_score,raw_sent)) # stores this sentence and
its total score

# scores the sentences by their score, in descending order
scored_sentences=sorted(scored_sentences,key=1lambda x:x[0],reverse=True)

return scored_sentences

scored_sentences=evaluate_sentences(text,word_to_community,community_
scores,model_wv)
len(scored_sentences)
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for i in range(3):
print(scored_sentences[i], '\n")

(3368, 'Lionel Messi not only emulated the deity of Argentinian football,
Diego Maradona, by leading the nation to World Cup glory; he finally
plugged the burning gap on his CV, winning the one title that has eluded
him — at the fifth time of asking, surely the last time.')

(2880, 'He scored twice in 97 seconds to force extra-time; the first a
penalty, the second a sublime side-on volley and there was a point towards
the end of regulation time when he appeared hell-bent on making sure that
the additional period would not be needed.')

(2528, 'It will go down as surely the finest World Cup final of all time,
the most pulsating, one of the greatest games in history because of how
Kylian Mbappé hauled France up off the canvas towards the end of normal
time.")



print(scored_sentences[-1]) #prints the last sentence with the lowest score
print()
print(scored_sentences[30]) #prints a sentence at the middle of the scoring scale

(0, 'By then it was 2-0.")

(882, 'Di Maria won the opening penalty, exploding away from Ousmane
Dembélé before being caught and Messi did the rest.')
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Load the Pre-Trained SBERT Model
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%%capture
from sentence_transformers import SentenceTransformer, util
model_sbert = SentenceTransformer('all-MinilLM-L6-v2")
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QA={
"Q1":"What type of courses are you interested in?",
"A1":[["Courses in Computer Programming","2"],
["Courses in Engineering","3"],
["Courses in Marketing","4"1],

"Q2":"What type of Programming Languages are you interested in?",
"A2":[["Java",None],["Python",None]],

"Q3":"What type of Engineering are you interested in?",
"A3":[["Mechanical Engineering",None],["Electrical Engineering",None]],

"Q4":"What type of Marketing are you interested in?",
"A4":[["Social Media Marketing",None],["Search Engine
Optimization",None]]

}

Chat() ats fx

EUTES FETO0 TR USRI RN FEVYY Mﬁaﬂ\sgﬁwucmt()a_m“,:\xtﬁ‘a_,w\:g

.‘a.:\;}-_‘u_ui‘ Sy ddayudl

Lyl cuggy Jaikg HLA <y s ¢ Jlgeall 1gd algall clla ¥l alsla aa Y Li¥s Lgalie 3,1 IS ol @
A gt A1

250 3 Lo kel autadl o ] Ll a6l g 301 ol o1 0

e o) L1 5 55 @] (SBERT) ¥ md| (o Lo i el s 3 ke &1 e

sim_Ibound _is¥1 asdl it ce olel 55l oIS 13 LsLaie 5Lt Al S0l 5Ll S5 5,31

import numpy as np #used for processing numeric data

def chat(QA:dict, #the Question-Answer script of the chatbot

model_sbert, #a pre-trained SBERT model

sim_lbound:float): #lower bound on the similarity between the user's response and the
closest candidate answer

ga_id="1" #theQAid
while True: # an infinite loop, will break in specific conditions

print('>>"',QA['Q'+qa_id]) # prints the question for this ga_id
candidates=QA["A"+qa_id] # gets the candidate answers for this qa_id

print(flush=True) # used only for formatting purposes
response=input() #reads the user's response

# embed the response
response_embeddings = model_sbert.encode([response], convert_to_
tensor=True)
' # embed each candidate answer. x is the text, y is the qa_id. Only embed x.



candidate_embeddings = model_sbert.encode([x for x,y in candidates],
convert_to_tensor=True)

# gets the similarity score for each candidate
similarity_scores = util.cos_sim(response_embeddings, candidate_
embeddings)

# finds the index of the closest answer.
# np.argmax(L) finds the index of the highest number in a list L
winner_index=np.argmax(similarity_scores[0])

# if the score of the winner is less than the bound, ask again.
if similarity_scores[0][winner_index]<sim_lbound:
print('>> Apologies, I could not understand you. Please rephrase
your response.')
continue

# gets the winner (best candidate answer)
winner=candidates[winner_index]

# prints the winner's text
print('\n>> You have selected:',winner[0])
print()

ga_id=winner[1] # gets the qa_id for this winner

if ga_id==None: # no more questions to ask, exit the loop
print('>> Thank you, I just emailed you a list of courses.')
break
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chat(QA,model_sbert, 0.5)

>> What type of courses are you interested in?
marketing courses

>> You have selected: Courses on Marketing

>> What type of Marketing are you interested in?
seo

>> You have selected: Search Engine Optimization

>> Thank you, I just emailed you a list of courses.
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chat(QA,model_sbert, 0.5)

>> What type of courses are you interested in?

cooking classes

>> Apologies, I could not understand you. Please rephrase your response.
>> What type of courses are you interested in?

software courses

>> You have selected: Courses on Computer Programming

>> What type of Programming Languages are you interested in?

C++

>> You have selected: Java

>> Thank you, I just emailed you a list of courses.

33325kl L) LY 40 ¥ (glall wg)a) Cooking Classes ol dis yal cuggy egds L Jalal 2
ez (el 2 a5l el 55001 ) Software courses gl @gad 21T 5uall S gag. a0 allsucla 2
¢ el (msolond] A o 23 yudl ol y501) Courses on Computer Programming HLes das 5 )]
e Java s it a3 on Biasull cagg) day o tciaiall ol e sginll dali Jelinll (e s Yl
IO G gl 2l ey Lo L) 38T Lagily Joll (Siasy Jadly (o lidass p Bmasadl 280 O (e o)
o] ot 2302 2yl ol gty e gald Al 250l ey ¥ A3yl gy O g O oo caa Ll
393,01 G 35 Laell Vol agLiall ¢y Vo il il o Ll aluzinl oo 5ol | 2atlal 351,

ALY (e Alall el el 5Ll

21 pad ALl g A laT Al
Using Machine Learning to Generate Realistic Text

cabtia ) eladaill jogan il adgl aasill clims of caelgally ‘_m}mf RESHRE PR PN PRI B (I JUN |
(NLG) MJ'HMJ‘M}J&MM‘ PN (d.a.u_v\_u.m a_:..b“_,lad)_u.u.a M‘ fha 2

Aacdalt SLALY Ad g3 2 Aeduiud! Aedait! WYY pias OLeas 3.5 Jou

o g1 | aca

(MemoryCeIIs)s,suLMs.QA(LSTM)‘;_msj.msa}#ts,st;mas_u:ws;: 5y 11 glak 13, S 1001 A5
e JSandlae g M‘d‘ubbﬂ‘wmdbé‘m -oarwdhise | (Long Short-Term ot
e JS) g h ol 3,101 L3 Sl esisdy a5 1 A g ALl 2 Memory - LSTM)
Sl i 53 algs cewlis (LSTM) (5l jopucad aF glal 13,8100 lSds o0 e
o all Jie) bladl JewSas oye cilaglal b sLaa¥1 e Lisa) (NLG) Zencddald
Aadall LU i Aalaey (Aygad) LS 5l A3 e

oia Mj ‘Lwijsj ai,_;m Lyl N,;,;um qhuauyydt ukm‘ CSL“'U‘ 2% 9l e Bt ket

el 2 aatia Ll wuuw1 Models)




3 ik (P () R
oo oneoors o - — e
oday” " o

Js=11:3.30 U Gl 3, a3 afglall ‘,,st_m :3.29 <

Transformers &% ;.ait

‘n_'yj.agl‘c)}m& a;mw‘u}m‘_mu\wl_uuk@ i) dacdatl el myﬁmm\_w_.y@|
1 gy SR e S el 5 MJ—M—*H"—'%Ji‘dﬁmdﬂ‘ﬂ)i‘)-m‘u—*-\i“—'bubﬂ
,SJJLC;MWUJ\‘,LW&‘ uul‘a\miua;c:l.u.“ 02g) Awd Il ailiasdl gl C)zudﬂmt A3
ol adgi 25 LaS ¥l 73 Lei o yalal AN JBV1 23 V1 Jalons oy 2 Jraliasl uﬁa_z@,u ¥ L le
AL e Bla Vg paustilly IV B ;3 613 2 Loy Buaall s lilll udgs alga (e wyatall 3301 e

GPT-2 Model cut i1 G (S 5381 J gt (3o HILTN YIbua 1 3900

&92 S9! Céj_n.sj_bj (GPT 2) u_u.\.d!@.gu.n‘_;.\.dyﬂdpltu.n ‘,.al_JU!.uaY!‘a,\_m_,.u.u Lp_gu.d_” faa2
‘A..L‘Ju_ml‘ o nlg ‘_j_>_u.| ol il o..Lu.u.J.‘ ooyl _x_d}d (OpenAI) 6‘ R E SR IAN

(Generative Pre-training Transformer 2 - GPT- 5 ) QUSRI VOMA S g Jodl e AL o
de -l Gogad GM‘JLOJMLWJMJML&%MA&«U-U-S‘M‘ADL“ degerma e Q)
Wd}zu‘_,hmt (GPT-2) MJM‘ML;M}J'J,,.&‘w@uuanM L_QJLw\jg_,L,Jo_w
Ly 2l 3aISIL 5l s 5us gag Azl ogad! adgis sall 3um (Dependencies) oliadd auas=w
el i) e 1D Aigle ogumd adgil g dgedll il (S Alhg Gl e 33 Ll ol S
el fya o M Al

%%capture

I'pip install transformers

'pip install torch

import torch #an open-source machine learning library for neural networks, required for GPT2.
from transformers import GPT2LMHeadModel, GPT2Tokenizer

# initialize a tokenizer and a generator based on a pre-trained GPT2 model.
# used to:

# -encode the text provided by the user into tokens

# -translate (decode) the output of the generator back to text

tokenizer = GPT2Tokenizer.from_pretrained('gpt2"')

# used to generate new tokens based on the inputted text
generator = GPT2LMHeadModel.from_pretrained('gpt2"')
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. .ext='We had dinner at this restaurant yesterday. It is very close to my
“'house. All my friends were there, we had a great time. The location is

186



excellent and the steaks were delicious. I will definitely return soon, highly
recommended! "

# encodes the given text into tokens
encoded_text = tokenizer.encode(text, return_tensors='pt')

# use the generator to generate more tokens.
# do_sample=True prevents GPT-2 from just predicting the most likely word at every step.
generated_tokens = generator.generate(encoded_text,

max_length=200) # max number of new tokens to
generate
#decode the generates tokens to convert them to words
# skip_special_tokens=True is used to avoid special tokens such as '>" or "-' characters.
print(tokenizer.decode(generated_tokens[0], skip_special_tokens=True))

We had dinner at this restaurant yesterday. It is very close to my house.
All my friends were there, we had a great time. The location is excellent
and the steaks were delicious.I will definitely return soon, highly
recommended!

I've been coming here for a while now and I've been coming here for a while
now and I've been coming here for a while now and I've been coming here for
a while now and I've been coming here for a while now and I've been coming
here for a while now and I've been coming here for a while now and I've
been coming here for a while now and I've been coming here for a while now
and I've been coming here for a while now and I've been coming here for a
while now and I've been coming here for a while now and I've been coming
here for a while now and I've been coming here for a while now and I've
been coming here for a while now and

# use the generator to generate more tokens.
# do_sample=True prevents GPT-2 from just predicting the most likely word at every step.
generated_tokens = generator.generate(encoded_text,

max_length=200, # max number of new tokens to
generate

do_sample=True)

print(tokenizer.decode(generated_tokens[0],skip_special_tokens=True))

We had dinner at this restaurant yesterday. It is very close to my house.
All my friends were there, we had a great time. The location is excellent
and the steaks were delicious.I will definitely return soon, highly
recommended!

If you just found this place helpful. If you like to watch videos or

go to the pool while you're there, go for it! Good service - I'm from
Colorado and love to get in and out of this place. The food was amazing!
Also, we were happy to see the waitstaff with their great hands - I went
for dinner. I ordered a small side salad (with garlic on top), and had a
slice of tuna instead. When I was eating, I was able to get up and eat my
salad while waiting for my friend to pick up the plate, so I had a great
time too. Staff was welcoming and accommodating. Parking is cheap in this
neighborhood, and it is in the neighborhood that it needs to
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# Generate tokens with higher diversity
generated_tokens = generator.generate(
encoded_text, max_length=200, do_sample=True, temperature=2.0)

print(tokenizer.decode(generated_tokens[0], skip_special_tokens=True))

We had dinner at this restaurant yesterday. It is very close to my house.
ALl my friends were there, we had a great time. The location is excellent
and the steaks were delicious.I will definitely return soon, highly
recommended!

Worth a 5 I thought a steak at a large butcher was the end story!! We were
lucky. The price was cheap!! That night though as soon as dinner was on

my turn that price cut completely out. At the tail area they only have
french fries or kiwifet - no gravy - they get a hard egg the other day too
they call kawif at 3 PM it will be better this summer if I stay more late
with friends. When asked it takes 2 or 3 weeks so far to cook that in this
house. Once I found a place it was great. Everything I am waiting is just
perfect as usual....great prices especially at one where a single bite
would suffice or make more as this only runs on the regular hours
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# Too high temperature leads to divergence in the meaning of the tokens
generated_tokens = generator.generate(
encoded_text, max_length=200, do_sample=True, temperature=4.0)

print(tokenizer.decode(generated_tokens[0], skip_special_tokens=True))

We had dinner at this restaurant yesterday. It is very close to my house.
ALl my friends were there, we had a great time. The location is excellent
and the steaks were delicious.I will definitely return soon, highly
recommended! It has the nicest ambagas of '98 that I like; most Mexican.
And really nice steak house; amazing Mexican atmosphere to this very
particular piece of house I just fell away before its due date, no surprise
my 5yo one fell in right last July so it took forever at any number on

it being 6 (with it taking two or sometimes 3 month), I really have found
comfort/affability on many more restaurants when ordering.If you try at

it they tell ya all about 2 and three places will NOT come out before they
close them/curry. Also at home i would leave everything until 1 hour but
sometimes wait two nights waiting for 2+ then when 2 times you leave you
wait in until 6 in such that it works to
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from import combinations #tool used to create combinations
import networkx as nx # python library for processing graphs
def build_graph(vocab:set, #setof unique words

model_wv, # Word2Vec model

similarity_threshold:float

pairs=combinations(vocab, ) #gets all possible pairs of words in the vocabulary

G=nXx. # makes a new graph

for wl,w2 in pairs: #forevery pair of words wl,w2

sim=model_wv. | (wl, w2)#gets the similarity between the two words
if
G. (wl,w2)
return G
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from sentence_transformers import , util
from import combinations # tool used to create combinations
model_sbert = ('all-MinilM-L6-v2"')

def get_max_sim(L1,my_sentence):

# embeds my_sentence

my_embedding = model_sbert, ([my_sentence], convert_to_tensor=True)

# embeds the sentences from L2

L_embeddings = model_sbert. (L, convert_to_tensor=True)

similarity_scores = .cos_sim( , )

winner_index=np.argmax(similarity_scores[0])

return
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%%capture
import matplotlib.pyplot as plt # used for visualization
from os import listdir #used to list the contents of a directory

'pip install scikit-image # used for image manipulation
from skimage.io import imread # used to read a raw image file (e.g. png or jpg)
from skimage.transform import resize # used to resize images

# used to convert an image to the "unsigned byte" format
from skimage import img_as_ubyte

c]a&l‘ uL.s Uy ¢ Lgudt A\._a__sig‘ Lgd bl 3\.:5;:11& 2 seuall IS eSS ui 4;51‘ (“i":"” aladylen
sLasl Lgd 01955 cgomy Lgie JS e, (@Ml _aleea) input_folder ¢y gl 152 Ll e !

def resize_images(input_folder:str,
width:int,

height:int

DE:

labels = [] #a list with the label for each image
resized_images = [] #a list of resized images in np array format
filenames = [] #alist of the original image file names

for subfolder in listdir(input_folder): #foreach sub folder

print(subfolder)
path = input_folder + '/' + subfolder

for file in listdir(path): #for each image file in this subfolder

image = imread(path + '/' + file) #reads the image

resized = img_as_ubyte(resize(image, (width, height))) #resizesthe image
labels.append(subfolder[:-4]1) # uses subfolder name without "Head" suffix
resized_images.append(resized) # stores the resized image
filenames.append(file) # stores the filename of this image

return resized_images, labels, filenames



resized_images, labels, filenames = resize_images("AnimalFace/Image",
width=100, height=100) # retrieves the images with their labels and resizes them to 100 x 100

BearHead EagleHead PigeonHead Osug ol almall ¢ lawl Lo ola
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ChickenHead LionHead SheepHead 539m 5l calie clendl oiia
CowHead MonkeyHead TigerHead SR wfﬁ -
DeerHead Natural WolfHead Letals

DuckHead PandaHead
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# reads an image file, stores it in a variabe and

# shows it to the user in a window

image = imread('AnimalFace/Image/LionHead/lioni78.jpg"')
plt.imshow(image)

image.shape

(169, 169, 3)
Mj»‘jjwﬁgs‘uﬂflcja__umQMAPLIGQXIGQMM&QSJM‘J&&&%M
RGB o)lg¥l allaid (3,31 / yuasl / janl) &dall cilgiall edlill s5aall 23 @311 Frars 1oy (28,561)

13 g0l 028 (e Jo¥1 JuSll ()99 20 ) e sl ol s JBL S e

- #the pixel at the first column of the first row [162 68 66]
print(image[0][0])
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resized = resize(image, (100, 100))
print(resized.shape)
print(resized[0][0])

(100, 100, 3)
[0.40857161 0.27523827 0.26739514]

RGB 5Ll el il 03 ()L 100 % 100 sLayl ol 3 Agine M Lgaman yud 43 555mll o (e @l e
Gueas 1 6531 5 ya Lgligad kel (4Sang 15 0 o dei® el (4950 (Normalized) Lgto graai @3 S JSI
I oyl ol I35 (e 3Ll gt Ll

resized = img_as_ubyte(resized) (100, 100, 3)
print(resized.shape) [164 70 68]
print(resized[0][0]) [162 68 66]

print(image[0]1[0])

o
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2100 x 100 Guis I 169 X 169 &gl daiis

# displays the resized image
plt.imshow(resized);
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violations = [index for index in range(len(resized_images)) if
resized_images[index].shape !'= (100,100,3)]

violations

[455, 1587]
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posl = violations[0]
pos2 = violations[1]

print(filenames[pos1])
print(resized_images[posi1].shape)
plt.imshow(resized_images[posi])
plt.title(labels[pos1])

cowl.gif
(100, 100, 4)
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(RGBA) Laﬁj 5))‘2‘3)@&‘&)»&\4 3)gu0 4.4 JS&

Ti . .
Ll print(filenames[pos2]);

print(resized_images[pos2].shape);
plt.imshow(resized_images[pos2]);
plt.title(labels[pos2]);

tiger0000000168.jpg
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3,01 Js « (100,100 .4) slasl 55 IS5 Lgl 13531 55l
Gttt 13y (RGB Geeis oo Yoo RGBA Gewin Lgil 4
! (Alpha) Latizliz eus dal) ol 3L5 e gyum

B S e s S Blas B

0 20 40 60 80

cbj/)ﬁjdtﬂhkum‘éﬁa»mZASJ&&

# prints the first pixel of the RGBA image

# a value of 255 reveals that the pixel is not transparent
atall.

resized_images[pos1][0][0]

array([135, 150, 84, 255], dtype=uint8)

G s (100.100) sl o3 JSs Lt s slidl 3 y5
(Grayscale) @sbe y g yu3 Guin 3 y5uall o) e eIl aal
81 /ol Sl Gewinlly (RGB Gewity oy
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:L.,.\QLQS@UJLOS.MJLL:QJLAJH C)..Cd‘

plt.imshow(resized_images[pos2], cmap = 'gray')
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resized_images[pos2][0][0]
100
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bl
# used to count the frequency of each element in a list. Counter({'Bear': 101,
from collections import Counter "Cat': 160,
"Chicken': 100,
label_cnt = Counter(labels) ‘Cow': 104,
label_cnt ‘Deer’: 103,
'Duck': 103,
'"Eagle': 101,
"Elephant': 100,
"Lion': 102,
& a9 dd latiall Aagall 439, cliSay Lin "Monkey': 100,
e gsds « (Aaglall 5l Nature) Nat 'Nat': 8,
Y Al &y lie dadd puolic Aol 'Panda’: 119,
'"Pigeon': 115,
'Rabbit': 100,
'Sheep': 100,
'Tiger': 114,
"Wolf': 100})
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N = len(labels)

resized_images = [resized_images[i] for i in range(N) if i not in violations

and labels[i] != "Nat"]
filenames = [filenames[i] for i in range(N) if i not in violations and
labels[i] != "Nat"]

labels = [labels[i] for i in range(N) if i not in violations and labels[i] !=
"Nat"]
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import numpy as np
X = np.array(resized_images)
Y = np.array(labels)

X.shape
(1720, 100, 100, 3)
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from sklearn.model_selection import train_test_split

X_train, X_test, y_train, y_test = train_test_split(
X,

Yy
test_size = 0.20, #uses20% of the data for testing

shuffle = True, # to randomly shuffle the data.
random_state = 42, #to ensure that data is always shuffled in the same way
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X_train[0].shape

(100, 100, 3)



P

BJHJSA‘.\_’;J‘ L:;Ab:‘w.%S)jmds (Flatten) @.h.“m&,ﬂ:d\g_’u)_mthz.u e‘m‘m;‘u.ﬂ

ERN

-

24230,000 = 100 X 100 X 3 died rlasus a2 45eS Alias Y]

X_train_flat = np.array([img.flatten() for img in X_train])
X_test_flat = np.array([img.flatten() for img in X_test])
X_train_flat[0].shape

(30000, )
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from sklearn.naive_bayes import MultinomialNB #imports the Naive Bayes Classifier

model_MNB = MultinomialNB()
model_MNB.fit(X_train_flat,y_train) #fits the model on the flat training data

MultinomialNB()

from sklearn.metrics import accuracy_score # used to measure the accuracy

pred = model MNB.predict(X_test_flat) # gets the predictions for the flat test set
accuracy_score(y_test,pred)

0.36046511627906974
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%%capture
I'pip install scikit-plot
import scikitplot

scikitplot.metrics.plot_confusion_matrix(y_test, #actuallabels
pred, # predicted labels
title = "Confusion Matrix",
cmap = "Purples”,
figsize = (10,10),
Xx_tick_rotation = 90,
normalize = True #to print percentages

)
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from sklearn.linear_model import SGDClassifier

model_sgd = SGDClassifier()
model_sgd.fit(X_train_flat, y_train)
pred=model_sgd.predict(X_test_flat)
accuracy_score(y_test,pred)

0.46511627906976744
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from sklearn.preprocessing import StandardScaler

scaler = StandardScaler()
X_train_flat_scaled = scaler.fit_transform(X_train_flat)
X_test_flat_scaled = scaler.fit_transform(X_test_flat)

print(X_train_flat[0]) #the values of the first image pre-scaling
print(X_train_flat_scaled[0]) # the values of the first image post-scaling

[144 142 151 ... 76 75 80]
[ 0.33463473 0.27468959 0.61190285 ... -0.65170221 -0.62004162
-0.26774175]
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model_sgd = SGDClassifier() 0.4906976744186046
model_sgd.fit(X_train_flat_scaled, y_train)
pred=model_sgd.predict(X_test_flat_scaled)

accuracy_score(y_test,pred)
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from skimage.color import rgb2gray # used to convert a multi-color (rgb) image to grayscale
# converts the training data

X_train_gray = np.array([rgb2gray(img) for img in X_train])

# converts the testing data

X_test_gray = np.array([rgb2gray(img) for img in X_test])

plt.imshow(X_train_gray[0],cmap="'gray'); plt.imshow(X_train[0]);
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print(X_train_gray[0].shape)
print(X_train[0].shape)

(100, 100)
(100, 100, 3)
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from skimage.feature import hog

hog_vector, hog_img = hog(
X_train_gray[0],
visualize = True

)

hog_vector.shape

(8100,)
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plt.imshow(hog_img);
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X_train_hog = np.array([hog(img) for img in X_train_gray])
X_test_hog = np.array([hog(img) for img in X_test_grayl])

togastl i 12 Lle SGDClassifier cojus (¥ S

# scales the new data

scaler = StandardScaler()

X_train_hog_scaled = scaler.fit_transform(X_train_hog)
X_test_hog_scaled = scaler.fit_transform(X_test_hog)

# trains a new model
model_sgd = SGDClassifier()
model_sgd.fit(X_train_hog_scaled, y_train)

# tests the model

pred = model_sgd.predict(X_test_hog _scaled)
accuracy_score(y_test,pred)

0.7418604651162791



scikitplot.metrics.plot_confusion_matrix(y_test, #actuallabels
pred, # predicted labels
title = "Confusion Matrix", # titletouse
cmap = "Purples", #color palette to use
figsize = (10,10), #figure size
x_tick_rotation = 90
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%%capture
I'pip install tensorflow
I'pip install keras
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# gets the set of all distinct labels
classes=1list(set(y_train))
print(classes)

print()

# replaces each label with an integer (its index in the classes lists) for both the training and testing data
y_train_num = np.array([classes.index(label) for label in y_train])
y_test_num = np.array([classes.index(label) for label in y_test])

print()

#Hexample:
print(y_train[:5]) #first 5 labels

print(y_train_num[:5]) #first 5 labels in integer format



['Elephant', 'Duck', 'Monkey', 'Cow', 'Sheep', 'Wolf', 'Tiger', 'Deer',
'Cat', 'Lion', 'Rabbit', 'Panda', 'Pigeon', 'Chicken', 'Eagle', 'Bear']

['Panda' 'Pigeon' 'Monkey' 'Panda' 'Sheep']
[11 12 2 11 4]
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from keras.models import Sequential # used to build neural networks as sequences of layers
# every neuron in a dense layer is connected to every other neuron in the previous layer.
from keras.layers import Dense

# builds a sequential stack of layers

model = Sequential()

# adds a dense hidden layer with 200 neurons, and the RelU activation function.
model.add(Dense(200,input_shape = (X_train_hog.shape[1],), activation="'relu'))
# adds a dense output layer and the softmax activation function.

model.add(Dense(len(classes), activation='softmax'))

model.summary()

Model: "sequential"

Layer (type) Output Shape Param #
dense (Dense) (None, 200) 1620200
dense_1 (Dense) (None, 16) 3216

Total params: 1,623,416
Trainable params: 1,623,416
Non-trainable params: 0

Lle daia Buaiall Aadall L5 Losmall L sue
sl ciliall sey aeasill e T g1 L)
csla Sl dads L3 dnall LR sae

Sl le Lelags PO s 3501 Loy o) coma 1 el el L ILas ¥ saall re gl il a8,
ol sl Ja_!a_xli”_m sl Yy (JE 0% (8,100) dfag a¥T ala e (ggid VR O Lasg eyl
meu_@‘wmu.unu_bw\ Aadall ggumig X_train _hog agxsll uLA)_Lo.U
(L@J‘)_u_m) Y ﬁ_\_._' e A39594 4lis9 1,620,000 = 200 x 8,100 g gezzl! sla Sals Y| ‘_ob..\ll_.
).l.‘ﬂ'-d‘)_n_’_mj M\M\LM@.\;JSJWCJ@ 2 L) (BIaS)).A:uJHmu_uLAMLA|u_m
drnall L}LaJlJa.uL.ad\amjd‘aMQ Aol AN 2 A me 3 KR0S ) LJL@JM}@
Uﬂmj‘_‘y}muuuwt 35380 B 3e T laky B0l s Lo« loma¥ gl uleall (! S
ul:.)zl|



4.a_A.Ia.”Laéyy%%w&&b@%ﬂ%oﬂw&ad}mub)ﬂ‘4.4.4]40‘ L&Jﬁ
H‘j.o ‘.B_Lm|)_u>._v)_|_g.‘.;\)_4.u.cwu_°.Lm4J 3 200 = 200X166Lu4_'3)31‘4_v)4_4a5ﬂ &Wulﬁ 4\_1.4.7;1‘
.C.\}uﬂ (Compile) &aa.ngLJ\ng)_J\)la.‘J‘ ‘a_x:v_wJ ‘HB)JJ‘M%M%JQ 4}‘3)_3.:.4

# compiling the model
model.compile(loss = 'sparse_categorical_crossentropy', metrics =
['accuracy'], optimizer = 'adam')

dec 2 (model compile()) asemitls 4y yallg Keras dcsa 2. S #3goil slael adls ‘QM
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model.fit(X_train_hog, # training data
y_train_num, #labels in integer format
batch_size = 80, #number of samples processed per batch
epochs = 40, #number of iterations over the whole dataset

)



17/17 [==============================] - 1s 16ms/step - loss: 2.2260 - accuracy: 0.3333
Epoch 2/40
17/17 [==============================] - Qs 15ms/step - loss: 1.1182 - accuracy: 0.7256
Epoch 3/40
17/17 [==============================] - Qs 15ms/step - loss: 0.7198 - accuracy: 0.8155
Epoch 4/40
17/17 [==============================] - Qs 15ms/step - loss: 0.4978 - accuracy: 0.9031
Epoch 5/40
17/17 [==============================] - Qs 16ms/step - loss: 0.3676 - accuracy: 0.9388

17/17 [==============================] - Qs 15ms/step - loss: 0.0085 - accuracy: 1.0000
Epoch 37/40
17/17 [==============================] - 0s 21ms/step - loss: 0.0080 - accuracy: 1.0000
Epoch 38/40
17/17 [==============================] - Qs 15ms/step - loss: 0.0076 - accuracy: 1.0000
Epoch 39/40
17/17 [==============================] - Qs 15ms/step - loss: 0.0073 - accuracy: 1.0000
Epoch 40/40
17/17 [==============================] - Qs 15ms/step - loss: 0.0071 - accuracy: 1.0000
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pred = model.predict(X_test_hog)
pred[0] # prints the predictions for the first image
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array([4.79123509e-03, 9.79321003e-01,
7.83501855e-06, 3.50346789e-04,
4.41945267e-05, 4.11721296e-04,
1.97038025e-04, 2.3474481k4e-03,
dtype=float32)

.39506648¢-03, 1.97884417e-03,
.45465224e-07, 1.19854585e-05,
.27362555e-05, 9.83431892e-06,
.49758552e-04, 1.57057808e-031,
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predict() M‘A)@."a;‘g:bai‘ @L.t.:'ém Ylain ! 3891 oyl giall sklearn aasa oo predict( ) M‘A)@.’bfwfg
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# index of the class with the highest predicted probability.
print(np.argmax(pred[0]))

# name of this class

print(classes[np.argmax(pred[0])])

# uses axis=1 to find the index of the max value per row
accuracy_score(y_test_num,np.argmax(pred, axis=1))
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Prediction Using Convolutional Neural Networks
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2 w S Y_train dbgamey X_train ddgawme Leag NUMpPY o8 Ldgame <l e

RGB Gewing 100x100 slals 3,80 Jhes (100 100.3) asa X_train adsice

JwST X_train adgicme 2 N 3,40 deews Jies Y_train adgawmt! 2 N awally

ghsel ! Lhun @b X_train  mhas cosu (LI goe ,d ) aladt |
;002 ObLed! 4e oo e MultinomialNB

from sklearn.naive_bayes import MultinomialNB # imports the Naive Bayes Classifier from sklearn

X_train_flat = np.array( )

model_MNB = MultinomialNB() # new Naive Bayes model

model_MNB. fit( , ) #fits model on the flat training data
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from skimage.color import # used to convert a multi-color (rgb) image to grayscale
from sklearn. import StandardScaler # used to scale the data

from sklearn.naive_bayes import MultinomialNB #imports the Naive Bayes Classifier from sklearn

X_train_gray = np.array([ (img) for img in X_trainl) #converts training data

X_train_hog =

scaler = StandardScaler()

X_train_hog_scaled = .fit_transform(X_train_hog)

model_MNB = MultinomialNB()

model MNB.fit(X_train_flat_scaled, )
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Understanding Image Content
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%%capture
import matplotlib.pyplot as plt
from os import listdiry

'pip install scikit-image

from skimage.io import imread

from skimage.transform import resize
from skimage import img_as_ubyte

# a palette of 10 colors that will be used to visualize the clusters.
color_palette = ['blue','green','red', 'yellow', 'gray', 'purple', 'orange',
"pink', 'black', 'brown']

_al=a) input_folder ;ye (wbilgumdl_sg9) LHI-Animal-Faces Uil fe gama ygo il 2011 T,
1 Cpeany 135 (08 L oyl o all 3lasl Ll (95 cgoms Lgiie JS emn Jisly Ly il (32
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def resize_images_v2(input_folder:str,
width:int,
height:int,

labels_to_keep:list

):
labels = [] # a list with the label for each image
resized_images = [] #a list of resized images in np array format
filenames = [] # a list of the original image file names

for subfolder in listdir(input_folder):

print(subfolder)
path = input_folder + '/' + subfolder

for file in listdir(path):

label=subfolder[:-4] # uses the subfolder name without the "Head" suffix

if label not in labels_to_keep: continue

labels.append(label) # appends the label

#loads, resizes, preprocesses, and stores the image.

resized_images.append(img_as_ubyte(resize(imread(path+'/'+file),
(width, height))))

filenames.append(file)

return resized_images,labels,filenames
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resized_images,labels,filenames=resize_images_v2(

"AnimalFace/Image",

width = 224,

height = 224,

labels_to_keep=['Lion', 'Chicken', 'Duck', 'Rabbit', 'Deer’',
'Cat', 'Wolf', 'Bear', 'Pigeon', 'Eagle'l]

)
BearHead MonkeyHead ]
CatHead Natural 3 pduall (pagliall ol
ChickenHead PandaHead Lgal il @i Al
CowHead PigeonHead
DeerHead RabbitHead
DuckHead SheepHead
EagleHead TigerHead
ElephantHead WolfHead

LionHead

das Moy Ana ilid e 508,00 ¢ (Lgy dadimll _ yugliadl) labels_to_keep yisull Juoss lggw cLiSas
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import random

#connects the three lists together, so that they are shuffled in the same order
connected = list(zip(resized_images,labels,filenames))
random.shuffle(connected)

“#disconnects the three lists

resized_images,labels,filenames= zip(*connected)
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import numpy as np #used for numeric computations
X = np.array(resized_images)
Y = np.array(labels)

X.shape
(1085, 224, 224, 3)
cilg i S @l 39224 % 224 sLasl il Lgia 3550 S 03550 1,085 Jaois Lgil fye L) S8 G amy
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Clustering without Feature Engineering gailasf| dwdid &gy aend!
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X_flat = np.array([img.flatten() for img in X])
X_flat[0].shape

(150528, )

X_flat[0] # prints the first flat image
array([107, 146, 102, ..., 91, 86, 108], dtype=uint8)

‘u P O PN | Lj ‘25530u\_vcj‘)_¢_' RGB . “9_”4\_«5«_»‘A ela_ual‘d.t_gu_u.” faa 2 Ladae 403 K
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X_norm = X_flat / 255
X_norm[0]

array([0.41960784, 0.57254902, 0.4 y ..., 0.35686275, 0.3372549 ,
0.42352941])
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%%capture
'pip install yellowbrick
from yellowbrick.text import TSNEVisualizer

tsne = TSNEVisualizer(colors = color_palette) #initializes the tool
tsne.fit(X_norm, y) #uses TSNE to reduce the data to 2 dimensions
tsne.show();

TSNE Projection of 1085 Documents
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from sklearn.cluster import AgglomerativeClustering # used for agglomerative clustering
import scipy.cluster.hierarchy as hierarchy

hierarchy.set_link_color_palette(color_palette) #setsthe color palette
plt.figure()

# iteratively merges points and clusters until all points belong to a single cluster
linkage_flat = hierarchy.linkage(X_norm, method = 'ward')

hierarchy.dendrogram(linkage_flat) e 35ke (5505) ward
plt.show() s f@,lsfjlo
o ! S gl
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AC = AgglomerativeClustering(linkage = 'ward',n_clusters = 10)
AC.fit(X_norm) # applies the tool to the data

pred = AC.labels_ # gets the cluster labels

pred
array([9, 6, 3, ..., 4, &, 3], dtype=int64)
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from sklearn.metrics import homogeneity_score, adjusted_rand_score,
completeness_score

print('\nHomogeneity score:', homogeneity_score(y, pred))
print('\nAdjusted Rand score:', adjusted_rand_score(y, pred))
print('\nCompleteness score:', completeness_score(y, pred))

Homogeneity score: 0.09868725008128477
Adjusted Rand score: 0.038254515908926826

Completeness score: 0.101897123096584
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from skimage.color import rgb2gray

from skimage.feature import hog

# converts the list of resized images to an array of grayscale images

X_gray = np.array([rgb2gray(img) for img in resized_images])
# computes the HOG features for each grayscale image in the array

X_hog = np.array([hog(img) for img in X_gray])

X_hog.shape

(1085, 54756)
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tsne = TSNEVisualizer(colors = color_palette)
stsne.fit(X_hog, vy)
tsne.show();
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plt.figure()

linkage_2 = hierarchy.linkage(X_hog,method = 'ward')
hierarchy.dendrogram(linkage_2)

plt.show()

100

(HOG) gl shl culn sl (61,5 dabais alaistualy Batiasll il ol ogny culial gyl o 11 :4.21 U<

228



plaatl iy dlic 5 5 die 4L posmenll saall o da ity g oy aBlie L gy &) )l ¢y
CARWAIY é\.u).g.!aig (S muetl) AgglomerativeClustering 3150 gl 12 s L e )
LG

AC = AgglomerativeClustering(linkage = 'ward', n_clusters = 5)

AC.fit(X_hog)
pred = AC.labels_

print('\nHomogeneity score:', homogeneity_score(y, pred))
print('\nAdjusted Rand score:', adjusted_rand_score(y, pred))
print('\nCompleteness score:', completeness_score(y, pred))

Homogeneity score: 0.4046340612330986
Adjusted Rand score: 0.29990205334627734

Completeness score: 0.6306921317302154
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AC = AgglomerativeClustering(linkage = 'ward', n_clusters = 10)
AC.fit(X_hog)
pred = AC.labels_

print('\nHomogeneity score:', homogeneity_score(y, pred))
print('\nAdjusted Rand score:', adjusted_rand_score(y, pred))
print('\nCompleteness score:', completeness_score(y, pred))

Homogeneity score: 0.5720932612704411

Adjusted Rand score: 0.41243540297103065

Completeness score: 0.617016965322667
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from keras.applications.vggl6 import VGG16 # used to access the pre-trained VGG16 model
from keras.models import Model

- 2 s
o madl (a3 AV AG N (Bl
model = VGG16() #loads the pretrained VGG16 model ( < O O el A=

# removes the output layer
model = Model(inputs = model.inputs, outputs = model.layers[-2].output)

Osll @i @uzmad: Jio VGG L6 ¢35 Loy Ll Lgraadh Zca L1 A9 At Ll M) s ) gl 3k
:190 oo I RGB
from keras.applications.vggl6 import preprocess_input (1085, 224, 224, 3)

X_prep = preprocess_input(X)
X_prep.shape
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X_VGG16 = model.predict(X_prep, use_multiprocessing = True)
X_VGG16.shape

34/34 [::::::::::::::::::::::::::::::] - 575 zs/step

(1085, 4096)
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tsne = TSNEVisualizer(colors = color_palette)
tsne.fit(X_VGG16, labels)
tsne.show();
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linkage_3 = hierarchy.linkage(X_VGG16, method = 'ward')
plt.figure()

hierarchy.dendrogram(linkage_3)

plt.show()
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AC = AgglomerativeClustering(linkage = 'ward',n_clusters = 4)
AC.fit(X_VGG16)
pred=AC.labels_

print('\nHomogeneity score:', homogeneity_score(y, pred))
print('\nAdjusted Rand score:', adjusted_rand_score(y, pred))
print('\nCompleteness score:', completeness_score(y, pred))

Homogeneity score: 0.504687456015823
Adjusted Rand score: 0.37265351562538257

Completeness score: 0.9193141240200559

AC = AgglomerativeClustering(linkage='ward',n_clusters = 10)
AC.fit(X_VGG16)
pred=AC.labels_

print('\nHomogeneity score:', homogeneity_score(y, pred))
print('\nAdjusted Rand score:', adjusted_rand_score(y, pred))
print('\nCompleteness score:', completeness_score(y, pred))

Homogeneity score: 0.8403973102506642
Adjusted Rand score: 0.766734821176714

Completeness score: 0.8509145102288217
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from import AgglomerativeClustering # used for agglomerative clustering
AC = AgglomerativeClustering(linkage="ward", )
X_norm = # normalizes the data

AC.fit(X_norm) # applies the tool to the data

pred = AC. # gets the cluster labels
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import scipy.cluster.hierarchy as hierarchy # visualizes and supports hierarchical clustering tasks

import as plt

X_norm = # normalizes the data

plt.figure() #creates a new empty figure

linkage_flat=hierarchy.linkage( , method=" ")

hierarchy. (linkage_flat)

plt.show() #shows the figure
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%%capture

'pip install diffusers
!'pip install transformers
'pip install accelerate

import matplotlib.pyplot as plt
from PIL import Image # used to represent images
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# a tool used to generate images using stable diffusion
from diffusers import DiffusionPipeline

generator = DiffusionPipeline.from_pretrained("CompVis/stable-diffusion-v1-4")
# specifies what GPUs should be used for this generation
generator.to("cuda")

image = generator("A photo of a white lion in the jungle.").images[0]
plt.imshow(image);
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image = generator("A painting of a white lion in the style of Picasso.").
images[0]
plt.imshow(image);
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# pipeline used for image to image generation with stable diffusion

from diffusers import StableDiffusionImg2ImgPipeline

# loads a pretrained generator model

generator = StableDiffusionImg2ImgPipeline.from_pretrained("runwayml/stable-
diffusion-v1-5")

# moves the generator model to the GPU (CUDA) for faster processing

generator.to("cuda")

init_image = Image.open("landscape.jpg")
init_image.thumbnail((768, 768)) # resizes the image to prepare it as input of the model
plt.imshow(init_image);
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# a detailed prompt describing the desired visual
# for the produced image

prompt = "A realistic mountain
landscape with a large castle."
image = generator(prompt=prompt,
image = init_image, strength=0.75).
images[0]

plt.imshow(image);
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# generate a new image based on the prompt and the
# initial image using the generator model

image = generator(prompt=prompt,

image = init_image, strength=1).images[0]
plt.imshow(image);
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init_image = Image.open("cat_1.jpg")
init_image.thumbnail((768, 768))
plt.imshow(init_image);
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prompt = "A photo of a tiger"
image = generator(prompt=prompt, image=init_image, strength=0.5).images[0]
plt.imshow(image);
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image = generator(prompt=prompt,
image = init_image, strength=0.75).
images[0]

plt.imshow(image);
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# tool used for text-guided image in-painting

from diffusers import StableDiffusionInpaintPipeline
init_image = Image.open("cat_on_bench.png").resize((512, 512))
plt.imshow(init_image);

mask_image = Image.open("cat_mask.jpg").resize((512, 512))
plt.imshow(mask_image);
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generator = StableDiffusionInpaintPipeline.from_pretrained("runwayml/stable-
diffusion-inpainting")
generator = generator.to("cuda")

prompt = "A photo of an astronaut"

image = generator(prompt=prompt, image=init_image, mask_image=mask_image).
images[0]

plt.imshow(image);
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init_image = Image.open("desk.jpg").resize((512, 512))
plt.imshow(init_image);

mask_image = Image.open("desk_mask.jpg").resize((512, 512))
plt.imshow(mask_image);
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prompt = "A photo of a book"

image = generator(prompt=prompt, image=init_image, mask_image=mask_image).
images[0]

plt.imshow(image);
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import random

O Als e slael Aide 71,30 2 Lgal il (S -l Random

def create_problem_instance(skill_number, # total number of skills

worker_number, # total number of workers
required_skill_number, #number of skills the team has to cover
max_skills_per_worker # max number of skills per worker

DE



# creates the global list of skills s1, s2, s3, ...
skills = ['s' + str(i) for i in range(1, skill_number+1)]

worker_skills = dict() #dictionary that maps each worker to their set of skills
for i in range(1, worker_number+1): # for each worker

# makes a worker id (w1, w2, w3, ...)
worker_id = 'w' + str(i)

# randomly decides the number of skills that this worker should have (at least 1)
my_skill_number = random.randint(1, max_skills_per_worker)

# samples the decided number of skills
my_skills = set(random.sample(skills, my_skill_number))

# remembers the skill sampled for this worker
worker_skills[worker_id] = my_skills

# randomly samples the set of required skills that the team has to cover
required_skills = set(random.sample(skills, required_skill_number))

# returns the worker and required skills
return {'worker_skills':worker_skills, 'required_skills':required_skills}
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# the following code represents the above test
sample_problem = create_problem_instance(10, 6, 5, 5)

# prints the skills for each worker
for worker_id in sample_problem[ 'worker_skills']:
print(worker_id, sample_problem[ 'worker_skills'][worker_id])

print()

# prints the required skills that the team has to cover
print('Required Skills:', sample_problem['required_skills'])

wl {'s10'}

w2 {'s2', 's8', 's5', 's6'}

w3 {'s7', 's2', 's4', 's5', 's1'}
wt {'s9', 's4'}

w5 {'s7', 's4'}

we {'s7', 's10'}

Required Skills: {'s6', 's8', 's7', 's5', 's9'}
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# used to generate all possible combinations in a given list of elements
from itertools import combinations

L= ['wl", 'w2', 'w3', 'w4']

print('pairs', list(combinations(L, 2))) #all possible pairs
print('triplets', list(combinations(L, 3))) #all possible triplets

pairs [('wl', 'w2'), ('wl', 'w3'), ('wl', 'w&'), ('w2', 'w3'), ('w2',
‘wa'), ('w3', 'wa')]
triplets [('wl', 'w2', 'w3'), ('wl', 'w2', 'w4'), ('wl', 'w3', 'wa'),
('w2', 'w3', 'wa')]
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def brute_force_solver(problem):

worker_skills = problem[ 'worker_skills']
required_skills = problem['required_skills"']

worker_ids = list(worker_skills.keys()) #gets the ids of all the workers
worker_num = len(worker_ids) # total number of workers
all_possible_teams = [] #remembers all possible teams

best_team = None #remembers the best (smallest) team found so far

#for each possible team size (singles, pairs, triplets, ...)
for team_size in range(1l, worker_num+1):

# creates all possible teams of this size
teams = combinations(worker_ids, team_size)
for team in teams: # for each team of this size

skill_union = set() #union of skills covered by all members of this team
for worker_id in team: # for each team member
# adds their skills to the union
skill_union.update(worker_skills[worker_id])

# if all the required skills are included in the union
if required_skills.issubset(skill_union):

# if this is the first team that covers all required skills

# or this team is smaller than the best one or

if best_team == None or len(team) < len(best_team):
best_team = team # makes this team the best one

return best_team #returns the best solution

LeSias ¥ 55 Lga o Bgllall el Hlal) de gamma cilS 130 55190 AU EL) A eadd S cllin S0 ¥ Sl 40
el YLl 02a a2 g ey Lall IS Aaks 3o y0 »LaiY 35 ks ol (10 (ot g3l JLsadl (e Jale o
o 392 s Romd Gyl 358 201 e 153

o3Lad! @3 il Ll Libﬁa_la,;,ﬁ 393l Jul Aga )l HLany L ooma pdl pdadll alusil oYl el ;<dj
sl

# uses the brute-force solver to find the best team for the sample problem
best_team = brute_force_solver(sample_problem)
print(best_team)

('w2', 'w3', 'wa')
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problems_with_5_workers = [] #5 workers

problems_with_10_workers [1 #10 workers
problems_with_15_workers [1 #15 workers
problems_with_20_workers [1 #20 workers

for i in range(100): #repeat 100 times

problems_with_5_workers.append(create_problem_instance(10, 5, 8, 5))

problems_with_10_workers.append(create_problem_instance(10, 10, 8, 5))
problems_with_15_workers.append(create_problem_instance(10, 15, 8, 5))
problems_with_20_workers.append(create_problem_instance(10, 20, 8, 5))
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import time
def gets_solutions(problems,solver):

total_seconds = 0 # total seconds required to solve all problems with this solver
total_solved = 0 #total number of problems for which the solver found a solution
solutions = [] #solutions returned by the solver

for problem in problems:

start_time = time.time() #starts the timer

best_team = solver(problem) #computes the solution

end_time = time.time() # stops the timer
solutions.append(best_team) #remembero the solution
total_seconds += end_time-start_time # computes total elapsed time

if best_team != None: #ifthe bestteam is a valid team
total_solved += 1
print("Solved {} problems in {} seconds".format(total_solved,
total_seconds))

return solutions
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brute_solutions_5 = gets_solutions(problems_with_5_workers,
solver = brute_force_solver)

brute_solutions_10 = gets_solutions(problems_with_10_workers,
solver = brute_force_solver)

brute_solutions_15 = gets_solutions(problems_with_15 workers,
solver = brute_force_solver)

brute_solutions_20 = gets_solutions(problems_with_20_workers,
solver = brute_force_solver)

Solved 23 problems in 0.0019948482513427734 seconds
Solved 80 problems in 0.06984829902648926 seconds
Solved 94 problems in 2.754629373550415 seconds
Solved 99 problems in 109.11902689933777 seconds
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Decision Making with a Greedy Heuristic Algorithm
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def greedy_solver(problem):

worker_skills = problem[ 'worker_skills']
required_skills = problem['required _skills']

# skills that still have not been covered

uncovered_required_skills = required_skills.copy()

best_team = []

# remembers only the skills of each worker that are required but haven't been covered yet
uncovered _worker_skills = {}

for worker_id in worker_skills:
# remembers only the required uncovered skills that this worker has

uncovered_worker_skills[worker_id] = worker_skills[worker_id].
intersection(uncovered_required_skills)
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# while there are still required skills to cover
while len(uncovered_required_skills) > 0:

best_worker_id = None # the best worker to add next

# number of uncovered skills required for the best worker to cover R
best_new_coverage = 0 2 g @ Gl dgllasdl
.uncovered_worker_skills

J

for worker_id in uncovered_worker_skills:

# uncovered required skills that this worker can cover
my_uncovered_skills = uncovered_worker_skills[worker_id]

# if this worker can cover more uncovered required skills than the best worker so far

if Tlen(my_uncovered_skills) > best_new_coverage:
best_worker_id=worker_id # makes this worker the best worker
best_new_coverage=len(my_uncovered_skills)

if best_worker_id != None: #ifa best worker was found
best_team.append(best_worker_id) # adds the worker to the solution

#removes the best worker's skills from the skills to be covered
uncovered_required_skills = uncovered_required_skills -
uncovered_worker_skills[best_worker_id]
for worker_id in uncovered_worker_skills:
# remembers only the required uncovered skills that this worker has
uncovered _worker_skills[worker_id] =

uncovered_worker_skills[worker_id].intersection(uncovered_required_skills)

else: #no best worker has been found and some required skills are still uncovered
return None # no solution could be found

return best_team



croga 3 LS LgiSly « Je¥1 Joudl sloma (yas ¥y 5Lt ¥l crmy BSall 5 ,a01 S Badindl Jondl g polsi 235 Y
2 o o Tolo 150 o Laia) s prag el pal) 35211 ol s 21 ol a3l (oot S el o]
139350 OIS 13) S B3 lall o2 w0 SS5L (g ot Jol CIL
dwed) 5-Workers :aledl cile gazma Jylo olowmd Aa i) ol &35 AL Goma ol pdaill a et
Oaiue ) 20-workersy  (dsle_ , e 3 was) 15-workersy . (Jlie_ 3,2 ) 10-workerss . (Jlie_
(s 201 3531 ol Aalgn @il Ui Ll ainiad 5 ol (Sale_

greedy_solutions_5 = gets_solutions(problems_with_5_workers,
solver = greedy_solver)

greedy_solutions_10 = gets_solutions(problems_with_10_workers,
solver = greedy_solver)

greedy_solutions_15 = gets_solutions(problems_with_15_workers,
solver = greedy_solver)

greedy_solutions_20 = gets_solutions(problems_with_20_workers,
solver = greedy_solver)

Solved 23 problems in 0.0009970664978027344 seconds
Solved 80 problems in 0.000997304916381836 seconds
Solved 94 problems in 0.001995086669921875 seconds
Solved 99 problems in 0.0019943714141845703 seconds
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# creates 100 problem instances of a team formation problem with 1000 workers
problems_with_1000_workers = []

for i in range(100): #repeats 100 times
problems_with_1000_workers.append(create_problem_instance(10, 1000, 8, 5))

# solves the 100-worker problems using the greedy solver

greedy_solutions_1000 = gets_solutions(problems_with_1000_workers,
solver = greedy_solver)

Solved 100 problems in 0.09574556350708008 seconds
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def compare(brute_solutions,greedy_solutions):
total_solved = 0
same_size = 0

for i in range(len(brute_solutions)):

if brute_solutions[i] != None: #if a solution was found
total_solved += 1

# if the solvers reported a solution of the same size
if len(brute_solutions[i]) == len(greedy_solutions[i]):
same_size += 1

return round(same_size / total_solved, 2)
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print(compare(brute_solutions_5,greedy_solutions_5))

print(compare(brute_solutions_10,greedy_solutions_10))
print(compare(brute_solutions_15,greedy_solutions_15))
print(compare(brute_solutions_20,greedy_solutions_20))

1.0

0.82
0.88
0.85
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def greedy_solver(problem):
worker_skills=problem[ 'worker_skills'] # worker skills for this problem
required_skills=problem['required_skills'] # required skills for this problem

uncovered_required_skills = required_skills. () #skills not covered
best_team=[] #bestsolution
uncovered_worker_skills={}

for worker_id in worker_skills:

uncovered_worker_skills[worker_id]=worker_skills[worker_id].

(uncovered_required_skills)
while len(uncovered_required_skills) > 0O:

best_worker_id= # the best worker to add next
best_new_coveraégzaiggafn@er of uncovered required skills covered by the best worker
for worker_id in uncovered_worker_skills: # for each worker
my_uncovered_skills=uncovered_worker_skills[worker_id]
# if this worker can cover more uncovered required skills than the best worker so far
if Tlen(my_uncovered_skills)>best_new_coverage:

best_worker_id=worker_id # makes this worker the best worker

best_new_coverage= (my_uncovered_skills)
if best_worker_id!= : #if a best worker was found
best_team. (best_worker_id) #adds the worker to the solution

#removes the best worker's skills from the skills to be covered

uncovered_required_skills=uncovered_required_skills - uncovered_
worker_skills[best_worker_id]

# for each worker

for worker_id in uncovered_worker_skills:

# remembers only the required uncovered skills that this worker has

uncovered_worker_skills[worker_id]=uncovered_worker_

skills[worker_id]. (uncovered_required_skills)

else: #no best worker has been found and some required skills are still uncovered

return # no solution could be found

return best_team
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import random

# creates an instance of the Single-Machine Weighted Tardiness problem.

def create_problem_instance(job_num, #number of jobs to create
duration_range, #job duration range
deadline_range, #deadline range
weight_range) :# importance weight range

# generates a random duration, deadline, and weight for each job

durations = [random.randint(*duration_range) for i in range(job_num)]
deadlines = [random.randint(*deadline_range) for i in range(job_num)]
weights = [random.randint(*weight_range) for i in range(job_num)]

# returns the problem instance as a dictionary

return {'durations':durations,
'deadlines':deadlines,
'weights':weights}
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for i in range(5):# prints 5 random integers between 1 and 10
print(random.randint(+[1, 10]))
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create_problem_instance(10, [5, 20], [5, 501, [1, 31)

_ ( iled! aesall 3lla )
{'durations': [18, 17, 17, 6, 9, 6, 20, 12, 9, 19],

'deadlines': [39, 31, 6, 42, 48, 10, 39, 16, 34, 35],
'weights': [2, 2, 3, 2, 1, 3, 2, 1, 3, 11} 0080 Aueal e )
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# computes the total weighted tardiness of a given schedule for a given problem instance
def compute_schedule_tardiness(problem, schedule):

# gets the information for this problem
durations, weights, deadlines=problem['durations'], problem['weights'],
problem[ 'deadlines']

job_num = len(schedule) # getsthe number of jobs

finish_times = [0] * job_num # stores the finish time for each job
schedule_tardiness = 0 #initializes the weighted tardiness of the overall schedule to 0
for pos in range(job_num): # goes over the jobs in scheduled order



job_id=schedule[pos] # schedule[pos] is the id in the 'pos’ position of the schedule
if pos == 0: #ifthisis the job that was scheduled first (position 0)

# the finish time of the job that starts first is equal to its run time
finish_times[pos] = durations[job_id]

else: #forall jobs except the one that was scheduled first

# the finish time is equal to the finish time of the previous time plus the job's run time
finish_times[pos] = finish_times[pos-1] + durations[job_id]

# computes the weighted tardiness of this job and adds it to the schedule's overall tardiness
schedule_tardiness += weights[job_id] * max(finish_times[pos] -
deadlines[job_id], 0)

return schedule_tardiness,finish_times
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import itertools
def brute_force_solver(problem):

# gets the information for this problem
durations, weights, deadlines=problem['durations'], problem['weights'],
problem[ 'deadlines']

job_num = len(durations) #number of jobs

# Generates all possible schedules
all_schedules = itertools.permutations(range(job_num))

# Initializes the best solution and its total weighted tardiness
best_schedule = None # initialized to None

# 'inf' stands for 'infnity'. Python will evaluate all numbers as smaller than this value.
best_tardiness = float('inf')

# stores the finish time of each job in the best schedule
best_finish_times = None # initalized to None

for schedule in all_schedules: #for every possible schedule

#evalutes the schedule
tardiness,finish_times=compute_schedule_tardiness(problem, schedule)

if tardiness < best_tardiness: # this schedule is better than the best so far
best_tardiness = tardiness
best_schedule = schedule
best_finish_times = finish_times

# returns the results as a dictionary

return {'schedule':best_schedule,
'tardiness':best_tardiness,
"finish_times':best_finish_times}
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sample_problem = create_problem_instance(5, [5, 201, [5, 301, [1, 31)

brute_force_solver(sample_problem) [
{'schedule': (0, 2, 1, 3, 4), (.i@iﬂ;,\ﬁgu@; )( sl Aueal S )
"tardiness': 164, <

"finish_times': [5, 11, 21, 36, 511}
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def greedy_solver(problem, heuristic):

# gets the information for this problem
durations, weights, deadlines = problem['durations'], problem['weights'],
problem[ 'deadlines"']

job_num = len(durations)# gets the number of jobs

# Creates a list of job indices sorted by their deadline in non-decreasing order
schedule = sorted(range(job_num), key = lambda j: heuristic(j, problem))

# evaluates the schedule
tardiness, finish_times = compute_schedule_[tardiness(problem, schedule)

# returns the results as a dictionary

return {'schedule':schedule,
'tardiness':tardiness,
"finish_times':finish_times}
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# returns the deadline of a given job
def deadline_heuristic(job,problem):

# accesses the deadlines for this problem and returns the deadline for the job
return problem[ 'deadlines'][job]
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greedy_sol = greedy_solver(sample_problem, deadline_heuristic)
greedy_sol

{'schedule': [3, 1, 4, 0, 2],
"tardiness': 124,
"finish_times': [15, 26, 32, 48, 571}
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# returns the weighted deadline of a given job
def weighted_deadline_heuristic(job,problem):

# accesses the deadlines for this problem and returns the deadline for the job

return problem['deadlines'][job] / problem['weights'][job]
weighted_greedy_sol=greedy_solver(sample_problem, weighted_deadline_heuristic)
weighted_greedy_sol

{'schedule': [3, 2, 1, 4, 01,
"tardiness': 89,
"finish_times': [15, 24, 35, 41, 571}
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def local_search_solver(problem, greedy_heuristic, swap_selector, max_
iterations):

# gets the information for this problem
durations, weights, deadlines=problem['durations'], problem['weights'],
problem[ 'deadlines']

job_num = len(durations) # getsthe number of jobs
# uses the greedy solver to get a first schedule
# this schedule will be then iteratively refined through local search

greedy_sol = greedy_solver(problem, greedy_heuristic) # the best schedule so far

best_schedule, best_tardiness, best_finish_times = greedy_sol['schedule'],
greedy_sol[ 'tardiness'], greedy_sol['finish_times']

# local search
for i in range(max_iterations): # foreach of the given iterations

# chooses which two positions to swap
posl, pos2 = swap_selector(best_schedule)

new_schedule = best_schedule.copy() #create a copy of the schedule
# swaps jobs at positions pos1 and pos2

new_schedule[pos1], new_schedule[pos2] = best_schedule[pos2],
best_schedule[pos1]



# computes the new tardiness after the swap
new_tardiness, new_finish_times = compute_schedule_tardiness(problem,
new_schedule)

# if the new schedule is better than the best one so far
if new_tardiness < best_tardiness:

LelS JLELI 148 2 ot | O3 pn
# the new_schedule becomes the best one o Led J ) Bl e

best_schedule = new_schedule
best_tardiness = new_tardiness

J s (iege £LEDI Gyl

best finish_times = new_finish_times 2 LogzaBiga dsliay Joul!
‘Jj..u.-..ﬂ

# returns the best solution

return {'schedule':best_schedule,
'tardiness':best_tardiness,
"finish_times':best_finish_times}

LegilSa oo com gy (51 Aall Jpamd) 2 (pidlsie coiega 5 LEBL 251 e Aslie ALl A1l Giled

def random_swap(schedule):
job_num = len(schedule) # getsthe number of scheduled jobs
posl = random.randint(0, job_num - 1) #samples a random position
pos2 = posl
while pos2 == posl: # keepssampling until it finds a position other than pos1
pos2 = random.randint(0, job_num - 1) #samples another random position
return posl, pos2 #returns the two positions that should be swapped
sl 2 05 pglmia (il g niegh 51 adl Lyl celd b @ atiins omlaal L) 01l aiiuis
2<>15 1<>35 3<>0 daz (1sSiias Ay YLl
def adjacent_swap(schedule):

job_num = len(schedule) # getsthe number of scheduled jobs

posl random.randint(®, job_num - 2) #samples a random position (excluding the last
one)

pos2 = posl + 1 #gets the position after the sampled one

return posl,pos2 #returns the two positions that should be swapped
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print(local_search_solver(sample_problem, weighted_deadline_heuristic, random_
swap, 1000))

print(local_search_solver(sample_problem, weighted_deadline_heuristic,
adjacent_swap, 1000))

{'schedule': [3, 4, 2, 1, 0], 'tardiness': 83, 'finish_times': [15, 21, 30,
41, 571}
{'schedule': [3, 4, 2, 1, 0], 'tardiness': 83, 'finish_times': [15, 21, 30,
41, 571}
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#Dataset 1
problems_7 = []
for i in range(100):
problems_7.append(create_problem_instance(7, [5, 201, [5, 501, [1, 31))

#Dataset 2
problems_30 = []
«for i in range(100):
problems_30.append(create_problem_instance(30, [5,20]1, [5, 501, [1, 31))
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from collections import defaultdict
import numpy

def compare(problems,use_brute):
# comparison on Dataset 1
# maps each solver to a list of all tardiness values it achieves for the problems in the given dataset
results = defaultdict(list)
for problem in problems: # for each problem in this datset

#uses each of the solvers on this problem
if use_brute == True:
results['brute-force'].append(brute_force_solver(problem)

['tardiness'])

results[ 'greedy-deadline'].append(greedy_solver(problem,deadline_
heuristic)['tardiness'])

results['greedy-weighted_deadline'].append(greedy_
solver(problem,weighted_deadline_heuristic)['tardiness'])

results['ls-random-wdeadline'].append(local_search_solver(problem,
weighted_deadline_heuristic, random_swap, 1000)['tardiness'])

results['ls-random-deadline'].append(local_search_solver(problem,
deadline_heuristic, random_swap, 1000)['tardiness'])

results['ls-adjacent-wdeadline'].append(local_search_solver(problem,
weighted_deadline_heuristic, adjacent_swap, 1000)['tardiness'])

results['ls-adjacent-deadline'].append(local_search_solver(problem,
deadline_heuristic, adjacent_swap, 1000)['tardiness'])

for solver in results: # foreach solver
# prints the solver's mean tardiness values
print(solver,numpy.mean(results[solver]))

:LegilS problems_30 4 problems_7 clilud! e gama pe COMpare () als R REL Ry us_‘,:

compare(problems_7,True) brute-force 211.49
greedy-deadline 308.14
greedy-weighted_deadline 255.61
1s-random-wdeadline 212.35
1s-random-deadline 212.43
ls-adjacent-wdeadline 220.62
1s-adjacent-deadline 224.36

compare(problems_30,False) greedy-deadline 10126.18
greedy-weighted_deadline 8527.61
ls-random-wdeadline 6647.73
ls-random-deadline 6650.99
ls-adjacent-wdeadline 6666.47
ls-adjacent-deadline 6664.67



9388 3oLt ) Al e Jomd (Aot | om0 gland (b g3 ¢ pulSiad | (AT Lie) Ol o |y o
Basigh A

Splge pad e JLid 19 B 71 ATIAT (9939t Bl | AS e Divacd (Jplond 1) HiSall Jglamdf s oS 9

.Q.. L a®®

..o.', s ,00@®

@8, * . °,° ,080
. .

=l ajlig
M .|59i!_| of Education

2025 - 1447



eyl ptadl | JLaS| IS (po Bt (511 ATOY (195 a0 Bloliad| 2K Alo pak1 59410 (o Aa)ylgs Gmidd] e
e YT A g S alog Y Al pak15 9211 ATIAYS AL G LT

def brute_force_solver(problem):
# gets the information for this problem
durations, weights, deadlines=problem['durations'], problem['weights'],

problem[ 'deadlines']

job_num = len( ) #number of jobs

# generates all possible schedules

all_schedules = itertools. (range(job_num))

# initializes the best solution and its total weighted tardiness

best_schedule = # initialized to None

# 'inf' stands for 'infnity'. Python will evaluate all numbers as smaller than this value.

best_tardiness = float(' ")

# stores the finish time of each job in the best schedule

best_finish_times- # initalized to None

for schedule in all_schedules: #for every possible schedule
#evalute the schedule
tardiness,finish_times=compute_schedule_tardiness(problem, schedule)

if tardiness<best_tardiness: # this schedule is better than the best so far

best_tardiness=

best_schedule=

best_finish_timesi

# return the results as a dictionary
return {'schedule':best_schedule,

'tardiness':best_tardiness,

"finish_times':best_finish_times}
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def local_search_solver(problem, greedy_heuristic, swap_selector, max_
iterations):

# gets the information for this problem

durations, weights, deadlines=problem['durations'], problem['weights'],
problem[ 'deadlines"']

job_num = Tlen( )# gets the number of jobs
# uses the greedy solver to get a first schedule.
# this schedule will be then iteratively refined through local search

greedy_sol = (problem, greedy_heuristic) #remembers the best

schedule so far
best_schedule, best_tardiness, best_finish_times=greedy_
sol['schedule'],greedy_sol['tardiness'],greedy_sol['finish_times']

# local search

for i in range( ): #foreach of the given iterations

# chooses which two positions to swap

posil,pos2= (best_schedule)

new_schedule = best_schedule. ( )# creates a copy of the

schedule

# swaps jobs at positions pos1 and pos2

new_schedule[pos1], new_schedule[pos2] = best_schedule[pos2], best_
schedule[pos1]

# computes the new tardiness after the swap

new_tardiness, new_finish_times = compute_schedule_tardiness(problem,
new_schedule)

# if the new schedule is better than the best one so far

if new_tardiness < best_tardiness:

# the new_schedule becomes the best one

best_schedule =

best_tardiness =

best_finish_times=
# returns the best solution
return {'schedule':best_schedule,
"tardiness':best_tardiness,
'finish_times':best_finish_times}
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'pip install mip #install the mip library

# imports useful tools from the mip library

from mip import Model, xsum, maximize, BINARY

values = [20, 10, 23, 15, 7, 7] #values of available items
" weights = [5, 10, 19, 8, 11, 2] # weights of available items



C

40 # knapsack capacity

I

range(len(values)) # creates an index for each item: 0,1,2,3,...

solver = Model("knapsack") # creates a knapsack solver
solver.verbose = 0 # setting this to 1 will print more information on the progress of the solver

= [1 #represents the binary decision variables for each item.

# for each items creates and appends a binary decision variable
for i in I:
x.append(solver.add_var(var_type = BINARY))

# creates the objective function
solver.objective = maximize(xsum(values[i] * x[i] for i in I))

# adds the capacity constraint to the solver
solver += xsum(weights[i] * x[i] for i in I) <= C

# solves the problem
solver.optimize()

<OptimizationStatus.OPTIMAL: 0>
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total_weight = 0 # stores the total weight of the items in the solution
‘total_value = 0 #stores the total value of the items in the solution



for i in I: #foreach item
if x[i1].x == 1: #if the item was selected
print('item', i, 'was selected')
# updates the total weight and value of the solution
total_weight += weights[i]
total_value += values[i]

print('total weight', total_weight)
print('total value', total_value)

was selected
was selected
item 3 was selected
item 5 was selected
total weight 34
total value 65

item
item
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import random
import numpy
from itertools import combinations

def create_problem_instance(num_locations, distance_range):

# initializes the distance matrix to be full of zeros

dist_matrix = numpy.zeros((num_locations, num_locations))

# creates location ids: 0,1,2,3,4,...

location_ids = set(range(num_locations))

# creates all possible location pairs

location_pairs = combinations(location_ids, 2)

for i,j in location_pairs: #foreach pair
distance = random.randint(+distance_range) #samples a distance within range
# the distance from i to j is the same as the distance from j to i
dist_matrix[j,i] = distance
dist_matrix[i,j] = distance

# returns the distance matrix, location ids and the startstop vertix
return dist_matrix, location_ids, random.randint(©, num_locations - 1)
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dist_matrix, location_ids, startstop = create_problem_instance(8, (5, 20))
print(dist_matrix)
print(startstop)

[[(0..19. 17. 15. 18. 17. 7. 15.
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Creating a Brute-Force Solver for the Traveling Salesman Problem
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from itertools import permutations

def brute_force_solver(dist_matrix, location_ids, startstop):
# excludes the starstop location
location_ids = location_ids - {startstop}
# generate all possible routes (location permutations)
all_routes = permutations(location_ids)
best_distance = float('inf') #initializes to the highest possible number
best_route = None # best route so far, initialized to None

for route in all_routes: # foreach route
distance = 0 #total distance in this route
curr_loc = startstop #current location

for next_loc in route:
distance += dist_matrix[curr_loc,next_loc] #adds the distance of this step
curr_loc = next_loc #goes to the next location

distance += dist_matrix[curr_loc,startstop] #goes to the starstop location

if distance < best_distance: #ifthis route has lower distance than the best route
best_distance = distance
best_route = route

# adds the startstop location at the beginning and end of the best route and returns
return [startstop] + list(best_route) + [startstop], best_distance
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for route in permutations({1,2,3}):
print(route)

(11 2' 3)
(11 3' 2)
(2, 1, 3)
(21 3' 1)
(3, 1, 2)
(31 2' 1)
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brute_force_solver(dist_matrix, location_ids, startstop)
([3, 5, 2,7, 1, 4, 0, 6, 3], 73.0)
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Using MIP to Solve the Traveling Salesman Problem
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arr = numpy.full((4,4), 0) #creates a4x4 array full of zeros [[06 06 0 0]

[0 00 0]
print(arr) [0 60 0]

[0 00 0]]
arr[0, 0] = 1
arr[3, 3] = 1 [[1 0 0 0]

[0 00 0]
print() [0 060 0]
print(arr) [0 © 06 1]]
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ids = {0, 1, 2}
for i, j in list(product(ids, ids)):
print(i, j)
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from itertools import product # used to generate all possible transition
from mip import BINARY
from mip import Model, INTEGER

solver = Model() #creates a solver
solver.verbose = 0 #setting this to 1 will print info on the progress of the solver

# 'product’ creates every transition from every location to every other location
transitions = list(product(location_ids, location_ids))

N = len(location_ids) #number of locations

# creates a square numpy array full of 'None' values
x = numpy.full((N, N), None)

# adds binary variables indicating if transition (i->j) is included in the route
for i, j in transitions:
x[i, j] = solver.add_var(var_type = BINARY)
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# the minimize tool is used then the objective function has to be minimized
from mip import xsum, minimize

# objective function: minimizes the distance
solver.objective = minimize(xsum(dist_matrix[i,jl+x[i][j] for i,j in
transitions))
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# for each location id

_ for i in location_ids:
solver += xsum(x[l j] for j in location_ids - {i}) == 1 #exactly 1 arrival
solver += xsum(x[j,i] for j in location_ids - {i}) == 1 #exactly 1 departure
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# adds a decision variable for each location
= [solver.add_var(var_type = INTEGER) for i in location_ids]
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# adds a connectivity constraint for every transition that does not include the startstop
for (i, j) in product(location_ids - {startstop}, location_ids - {startstop}):
# ignores transitions from a location to itself
if i !'= j:
solver += y[j] - y[il >= (N+1) = x[i, j] - N
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itertools import product
mip import BINARY,INTEGER
mip import Model

mip import xsum, minimize

MIP_solver(dist_matrix, location_ids, startstop):
solver = Model( )# creates a solver
solver.verbose = 0 #setting this to 1 will print info on the progress of the solver
# creates every transition from every location to every other location
transitions = list(product(location_ids,location_ids))
N = len(location_ids) #number of locations
# create an empty square matrix full of 'None' values
x = numpy.full((N, N), None)
# adds binary decision variables indicating if transition (i->j) is included in the route
for i, j in transitions:
x[i, jl=solver.add_var(var_type = BINARY)
# objective function: minimizes the distance
solver.objective = minimize(xsum(dist_matrix[i,jl+«x[i][j] for i,j in transitions))
# Arrive/Depart Constraints
for i in location_ids:
solver += xsum(x[i,j] for j in location_ids - {i}
solver += xsum(x[j,1i] for j in location_ids - {i}
# adds a binary decision variable for each location
y = [solver.add_var(var_type=INTEGER) for i in location_ids]
# adds connectivity constraints for transitions that do not include the startstop
for (i, j) in product(location_ids - {startstop}, location_ids - {startstop}):
if i != j: #ignores transitions from a location to itself
solver += y[j] - y[i] >=(N+1)*x[i,3] - N
solver.optimize() #solves the problem
# prints the solution
if solver.num_solutions: #ifa solution was found
best_route = [startstop] # stores the best route
curr_loc = startstop # the currently visited location
while True:
for next_loc in location_ids:# for every possible next location
if x[curr_loc,next_locl.x == 1: #ifxvalue for the curr_loc->next_loc transition is 1
best_route.append(next_loc) #appends the next location to the route
curr_loc=next_loc #visits the next location
break
if next_loc == startstop: #exits if route returns to the startstop
break
return best_route, solver.objective_value #returns the route and its total distance

# exactly 1 arrival

) == 1
) == 1 #exactly 1 departure
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same_count = 0
for i in range(100):
dist_matrix, location_ids, startstop=create_problem_instance(8, [5,20])
routel, distl = brute_force_solver(dist_matrix, location_ids, startstop)
route2, dist2 = MIP_solver(dist_matrix, location_ids, startstop)
# counts how many times the two solvers produce the same total distance
if distl == dist2:
same_count += 1
print(same_count / 100)
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import time
start = time.time() # startstimer
for i in range(100):
dist_matrix, location_ids, startstop = create_problem_instance(20, [5,20])
route, dist = MIP_solver(dist_matrix, location_ids, startstop)
stop=time.time() # stops timer

print(stop - start) #printsthe elapsed time in seconds

188.90074133872986
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from itertools import permutations

def brute_force_solver(dist_matrix, location_ids, startstop):

# excludes the startstop location

location_ids = - { }

# generates all possible routes (location permutations)

all_routes = ( )

best_distance = float('inf') #initializes to the highest possible number

best_route = None # best route so far, initialized to None

for route in all_routes: #foreach route

0 #total distance in this route

distance

# current location

curr_loc

for next_loc in route:

distance += [curr_loc, next_loc] #adds the distance of this step
curr_loc = # goes the next location
distance += [curr_1loc, 1 #goes to

back to the startstop location

if distance < best_distance: #ifthis route has lower distance than the best route
best_distance = distance

best_route = route

# adds the startstop location at the beginning and end of the best route and returns

return [startstop] + list(best_route) + [startstop], best_distance
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def MIP_solver(dist_matrix, location_ids, startstop):

solver = () #creates a solver

solver.verbose = 0 #setting this to 1 will print info on the progress of the solver
# creates every transition from every location to every other location

transitions = list( (location_ids, location_ids))

N = len(location_ids) #number of locations

# creates an empty square matrix full of ‘'None' values

x = numpy.full((N, N), None)

# adds binary decision variables indicating if transition (i->j) is included in the route
for i, j in transitions:

x[i, jl = solver. (var_type= )

# objective function: minimizes the distance

solver.objective = (xsum(dist_matrix[i, j] = x[i][j] for

i, j in transitions))

# Arrive/Depart Constraints
for i in location_ids:

solver += xsum( for j in location_ids - {i}) == 1

solver += xsum( for j in location_ids - {i}) == 1

# Adds a binary decision variable for each location

y = [solver. (var_type=777 ) for i in
location_ids]

# Adds connectivity constraints for transitions that do not include the startstop
for (i, j) in product(location_ids - {startstop}, location_ids -
{startstop}):
if i != j: #ignores transitions from a location to itself
solver += y[j] - y[i] >= (N + 1) * x[i, j] - N

solver. () #solves the problem
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File Edit View Simulation Build Overays Tools Help
D8 Mavic 2 PRO demo.

5 e @ e @ B O 095,
IMPORTABLE EXTERMPROTO

3 @ Worldinfo

3 @ Viewpoint

3 @ TesturedBackground

7 @ TexturedBackgroundLight
3 @ Floer floor*

3 @ Road "road”

2 @ Windmill “windmill*

3 @ Windmill “windrmill( 1)

3 @ Windmill "windmill(2)"

3 @ Windmill “windmill(3)"

3 @ SmaliMancr “small manor™
3 @ Squarebanhole “manhole”
3 @ CardboardBox “cardboard box
3 @ TeslaMadel3Simple "vehicle®
3 @ Pine “pine tree"

2 @ Pine “pine trea(1)"

3 @ Pine "pine tree(3)"

3 @ Pine "pine traa(4)"

3 @ Pine "pine tree(5]"

3 4@ Pine "pine tres(s]”

3 @ Pine “pine tree(2)"

3 @ Forest

2 @ Mivic2Pro “Mevic 2 PRO”

DO E . entroles\mavicproimaviclpro.c O B B
Dw 80 .o B

manvicZpro.c B

KD

* Copyright 1956-2042 Cyberbotic

* Licensed under the Agache Lice
* you may not use this file oxer
* Vou moy sbtoin o copy of the L

Wttp: /s, opoche, org/Lice

Uniess required by opplicoble
* distributed under the License
* WITHOUT HARRANTIES OR CONDITIO
See the Licerse for the specif
Limitations wnder the License,

Oescription: Simplistic drome
- Stebilize the robot using th

* - Use PID technigue to stobili

* - Use a cubic function applied

» Stebilize the comera.

= Control the robat using the

winclude <math.h>
Ainclude <stdio.h>
#include <stdlib.h>

#include <webots/robot.hs

#include cwebots/camera.hx
#include <webots/compass.hr
minclude <webats/gps.h>

tinclude <webats/gyro.hs
#include cwebots/inertial unit.h:
#include <webots/keyboard.h>
#include <webots/led.h>

#include <webots/metor.hy

wdafine SIGN(x) ((x) > @) - ({x)
i ndefine CLAWP(value, low, high) {

gy 3130 alasiuly 3 e 3,5l g9 000 16.6 IS
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Wﬁj‘éam‘mmgp‘omumhmﬁ (Syntax Highlighting) drenttslid b.w‘a_x_mestl\
-(Error Highlighting) sUas¥131 .15 (Auto-Completion)) 3Latd JLeS ¥ fia (Debuggmg) Lgualig

LJA}.”J}L—Aﬂ\)k_uéi\-@&o\.s\.zl‘uAuAd‘ulchﬂuL})zﬂuaﬂJOMbuA (COI’\SOle)pSa.J‘a..\:nj
Lgo.)l_‘ab o\SLzU ;Lu\ c_'.,\:-._"_,d‘ ;Uaa.}” colas! Lc_\_um U'Aﬁ c_uma.d‘ t_'Lﬂj.Lﬂ.Aﬁ

(.(Menubar)lﬁ&!!@ﬁ)( .(Toolbar) el ga¥l day y )

@ CAPrograen & [vehicles) - Wabcts R2023a
|Fi|e Edit Wiew Simulation Buid Cwverlays  Toals Hﬂpl

Ciy
oM - wx M P B A @ E < 4

[ o @ ¢ @ B 0
IMPORTABLE EXTERNPROTD l l

C StraightRoadSegmant “ro

1 @ CurvedRoadSegment “roadi11
s @ StraightRoadSegment “road(12)

4 .(Scenetree) agiwadl 3 =i a

adSegment “road(14)

dSegmant “road(15)

ight "generic traffic light

d traffic ight

e o P & |

sLa¥l asMs 528l
.(3D window)

( .(Text editor) uwa_u‘);:.:: )

= g
= B ! vehiclec O @EE
D& BQ fo i |
autonomous_vehicke.c £
49
0 // enabe *fedtures’
81 bool ensble_collisio? svoidance = false;

£3 bocl enable_display = false;
53 bocl has_gps - false)

54 bool has_camera = false;
86 // conera

57 kbDeviceTag. comers;

8 int comera width = -1;

88 int camera_height = -1;

B8 dovble camera_fov = 1.8
51

B4 // SICK Los
63 wWhbDeviceTag siek;

B4 int sick width = -1;

BS double sick range = -1.8;

B8 double sick fov = -1.9;

&2

8 // speedomster

gq'-.bnwt:n:g display;

78 int display_width = o;

71 int display_height = 2;

72 WbInageRef speedometer_image = NULL;
73

7 /s gos

7% bbeviceTag gps;

78 doutle gps_coords[3] = {6.9, 8.8, 0.0}
77 double gps_speed = 8.8;

er

7 /¢ wisc Les

BE double speed = 0.0;

‘81 double steering angle = 2.9;
8 int manual_steering = 0}

|83 bool autodrive = true;

85 void print_help() {
86 printf("You can drive this car!'n")}
87 printf("Select the 30 window and then use tF

Saluction: Browi3 (Robet)
Mode  Mus  Position  Velodity —
excluding descendants \
mass: 2000 kg ¢ 2
Co: | relathe  ~ 72975 o 0.1
112507 0
Inrtia matric: 4473.54 1 \
4346.1
Consale - All

INFO: autoncmous_vehicle: Starting contreller: ™
TNFO: generic_traffic_light: Starting controller:
INFO: erossroads traffic lights: Starting controller:
setting speed to 50 ka/h

You can drive this carl

Select the 30 window and then use the cursor keys to:
[LEFT]/[RIGHT]
[UP]/[DOWN] - accelerate/slew dawn

- steer

a@E

‘\Progran Files\webots\projectsivehicles\controllers\autononcus_vehicle\autonomous_vehicle.exe™
"C:\Progran Files\Webots\projectsiobjects\traffic\controllers\generic_traffic_light\generic_traffic_light.exe” 10 18 r
“C:\Progran Files\Webots\projects\cbjects\traffic\controllers\crossroads_traffic liphts\erossroads traffic_lights.exe®

g 32ali 16.7 JS&

(.(Console) S| B_Lb-j)
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-(PyCharm) a;Las b oyl (4= (OpenCV)

+(0penCV) 2 ou (o3 of AiiSs Commiclt

(1 .(‘a}:’-) Packages jle dasis! ( (aslas gb) PyCharm saali 2. <
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from controller import Robot

import numpy as np  #used for mathematic operations
import os # used for folder creation

import cv2 # used for image manipulation and human detection
from PIL import Image # used for image object creation
from datetime import datetime  # used for date and time

# auxiliary function used for calculations
def clamp(value, value_min, value_max):
return min(max(value, value_min), value_max)

class Mavic (Robot):

# constants of the drone used for flight

# thrust for the drone to lift

K_VERTICAL_THRUST = 68.5

# vertical offset the drone uses as targets for stabilization
K_VERTICAL_OFFSET = 0.6

K_VERTICAL_P = 3.0 # P constant of the vertical PID
K_ROLL_P = 50.0 # P constant of the roll PID
K_PITCH_P = 30.0 # P constant of the pitch PID

MAX_YAW_DISTURBANCE = 0.4

MAX_PITCH_DISTURBANCE = -1

# precision between the target position and the drone position in meters
target_precision = 0.5

def __init__(self):

]

¢ 2
u.\.cpfiud‘ ol 408 (g5t
pusii Sl (<g9,) Robot s
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# initializes the drone and sets the time interval between updates of the simulation

Robot._ _init__(self)
self.time_step = int(self.getBasicTimeStep())

# gets and enables devices
self.camera = self.getDevice("camera")
self.camera.enable(self.time_step)

self.imu = self.getDevice("inertial unit")
self.imu.enable(self.time_step)

self.gps = self.getDevice("gps")
self.gps.enable(self.time_step)

self.gyro = self.getDevice("gyro")
self.gyro.enable(self.time_step)

self.camera_pitch_motor = self.getDevice("camera pitch")

self.camera_pitch_motor.setPosition(0.7)

self.front_left_motor = self.getDevice("front left propeller")
self.front_right_motor = self.getDevice("front right propeller")
self.rear_left_motor = self.getDevice("rear left propeller")
self.rear_right_motor = self.getDevice("rear right propeller")
motors = [self.front_left_motor, self.front_right_motor,
self.rear_left_motor, self.rear_right_motor]

for motor in motors: # mass initialization of the four motors
motor.setPosition(float('inf"'))
motor.setVelocity(1)



self.current_pose = 6 *= [0] #X, Y, Z yaw, pitch, roll

self.target_position = [0, 0, 0] (4;|)j_,3 (X Ve 2) 5y :!t@zjﬁ‘wi“
self.target_index = 0 ® oyl oS oLy

. B L .(E)}.‘y LJ.L:L)Y =) y)
self.target_altitude = 0

def move_to_target(self, waypoints):

# Moves the drone to the given coordinates

# Parameters:

# waypoints (list): list of X,Y coordinates

# Returns:

# yaw_disturbance (float): yaw disturbance (negative value to go on the right)
# pitch_disturbance (float): pitch disturbance (negative value to go forward)

if self.target_position[0:2] == [0, O]: #initialization
self.target_position[0:2] = waypoints[0]

# if the drone is at the position with a precision of target_precision
if all([abs(x1 - x2) < self.target_precision for (x1, x2)
in zip(self.target_position, self.current_pose[0:2])]):

self.target_index += 1

if self.target_index > len(waypoints) - 1:
self.target_index = 0

self.target_position[0:2] = waypoints[self.target_index]

# computes the angle between the current position of the drone and its target position
# and normalizes the resulting angle to be within the range of [-pi, pi]
self.target_position[2] = np.arctan2(
self.target_position[1] - self.current_pose[1],
self.target_position[0] - self.current_pose[0])
angle_left = self.target_position[2] - self.current_pose[5]
angle_left = (angle_left + 2 * np.pi) % (2 * np.pi)
if (angle_left > np.pi):
angle_left -= 2 * np.pi

# turns the drone to the left or to the right according to the value
# and the sign of angle_left and adjusts pitch_disturbance
yaw_disturbance = self.MAX_YAW_DISTURBANCE = angle_left / (2 * np.pi)
pitch_disturbance = clamp(
np.logl0(abs(angle_left)), self.MAX_PITCH_DISTURBANCE, 0.1)

return yaw_disturbance, pitch_disturbance
def run(self):

# time intevals used for adjustments in order to reach the target altitude
tl = self.getTime()

roll_disturbance = 0
pitch_disturbance

=0
yaw_disturbance = 0



# specifies the patrol coordinates

waypoints = [[-30, 20], [-60, 301, [-75, 0], [-40, -10]] ._w

# target altitude of the drone in meters

self.target_altitude = 8
(Goall Llsy) waypoints

while self.step(self.time_step) != -1: e 20 ylaally ol
# reads sensors 26 peaall 3,510 4

roll, pitch, yaw = self.imu.getRollPitchYaw()
X_pos, y_pos, altitude = self.gps.getValues()
roll_acceleration, pitch_acceleration, _ = self.gyro.getValues()
self.current_pose = [x_pos, y_pos, altitude, roll, pitch, yaw]

if altitude > self.target_altitude - 1:
# as soon as it reaches the target altitude,
# computes the disturbances to go to the given waypoints
if self.getTime() - t1 > 0.1:
yaw_disturbance, pitch_disturbance = self.move_to_target(
waypoints)
t1 = self.getTime()

# calculates the desired input values for roll, pitch, yaw,

# and altitude using various constants and disturbance values

roll_input = self.K_ROLL_P = clamp(roll, -1, 1) +
roll_acceleration + roll_disturbance

pitch_input = self.K_PITCH_P * clamp(pitch, -1, 1) +
pitch_acceleration + pitch_disturbance

yaw_input = yaw_disturbance

clamped_difference_altitude = clamp(self.target_altitude -

altitude + self.K_VERTICAL_OFFSET, -1, 1)
vertical_input = self.K_VERTICAL_P =
pow(clamped_difference_altitude, 3.0)

# calculates the motors' input values based on the
# desired roll, pitch, yaw, and altitude values
front_left_motor_input = self.K_VERTICAL_THRUST + vertical_input
- yaw_input + pitch_input - roll_input
front_right_motor_input = self.K_VERTICAL_THRUST + vertical_input
+ yaw_input + pitch_input + roll_input
rear_left_motor_input = self.K_VERTICAL_THRUST + vertical_input
+ yaw_input - pitch_input - roll_input
rear_right_motor_input = self.K_VERTICAL_THRUST + vertical_input
- yaw_input - pitch_input + roll_input

# sets the velocity of each motor based on the motors' input values calculated above
self.front_left_motor.setVelocity(front_left _motor_input)
self.front_right_motor.setVelocity(-front_right_motor_input)
self.rear_left_motor.setVelocity(-rear_left_motor_input)
self.rear_right_motor.setVelocity(rear_right_motor_input)

robot = Mavic()
robot.run()
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# time intervals used for adjustments in order to reach the target altitude
t1 = self.getTime()

# time intervals between each detection for human figures

t2 = self.getTime()

Creating a Folder i ¢ LiS)
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# gets the current working directory

cwd = os.getcwd()

# sets the name of the folder where the images

# with detected humans will be stored

folder_name = "detected"

# joins the current working directory and the new folder name
folder_path = os.path.join(cwd, folder_name)

if not os.path.exists(folder_path):

# creates the folder if it doesn't exist already
os.makedirs(folder_path)
print(f"Folder \"detected\" created!")

else:
print(f"Folder \"detected\" already exists!")

Image Processing 3 js.al! dxflxe

JS o dany . S Alglma 13 Lgimlal Slgandl fyn 3 ysmndl (321,3) 15 il ¥ LSy codgdl 102
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."self.getTime() - t2>5.0"

# initiates the image processing and detection routine every 5 seconds
if self.getTime() - t2 > 5.0:

# retrieves image array from camera
cameralmg = self.camera.getImageArray()
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# reshapes image array to (channels, height, width) format
cameraImg = np.transpose(cameraImg, (2, 0, 1))
cameraImg = np.reshape(cameralmg, (3, 240, 400))
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# creates RGB image from merged channels
img = Image.new( 'RGB', (400, 240))
img = cv2.merge((cameraImg[2], cameraImg[1], cameraImg[0]))

J_fl_,_i pasid ol evtColor () adtull aluziwly ol zousdl 1 3)5mall Jogad @ Aoaady
(gl Il zoual 1 es Vg 5uad Vg 35591 (ye o151 it COLOR_BGR2GRAY

# converts image to grayscale
gray = cv2.cvtColor(np.uint8(img), cv2.COLOR_BGR2GRAY)
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# loads and applies the Haar cascade classifier to detect humans in image
human_cascade = cv2.CascadeClassifier('haarcascade_fullbody.xml"')
humans = human_cascade.detectMultiScale(gray)

Aoyl 3 gt By 40

B yddl sgusdl Hes BlAST Lle Lk 16,19 IS4



ABAISH ygual) dadi g 5 peudl 3 y3Uall y p&3
Drone Report and Saving of the Detected Images
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# loop, through detected human images, annotates them with a bounding box
# and prints a timestamp and an info message on the console
for (x, y, w, h) in humans:

# the image, the top left corner, the bottom right corner, color and width of the rectangle

cv2.rectangle(img, (x, y), (x+w, y+h), (255, 0, 0), 2)

current_time = datetime.now()

print(current_time)

print("Found a person in coordinates [{:.2f}, {:.2f}]"
.format(x_pos, y_pos))

# saves annotated image to file with timestamp
current_time = current_time.strftime("%Y-%m-%d_%H-%M-%S")
filename = f"detected/IMAGE_{current_time}.png"
cv2.imwrite(filename, img)
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def run(self):

# time intervals used for adjustments in order to reach the target altitude
tl = self.getTime()

# time intervals between each detection for human figures

t2 = self.getTime()

roll_disturbance = 0
pitch_disturbance = 0

yaw_disturbance = 0

# specifies the patrol coordinates

waypoints = [[-30, 20], [-60, 30], [-75, 0], [-40, -10]]
# target altitude of the drone in meters

self.target_altitude = 8

# gets the current working directory

cwd = os.getcwd()

# sets the name of the folder where the images

# with detected humans will be stored

folder_name = "detected"

# joins the current working directory and the new folder name
folder_path = os.path.join(cwd, folder_name)

if not os.path.exists(folder_path):

# creates the folder if it doesn't exist already
os.makedirs(folder_path)
print(f"Folder \"detected\" created!")

else:
print(f"Folder \"detected\" already exists!")

while self.step(self.time_step) != -1:

# reads sensors

roll, pitch, yaw = self.imu.getRollPitchYaw()

X_pos, y_pos, altitude = self.gps.getValues()

roll_acceleration, pitch_acceleration, _ = self.gyro.getValues()
self.current_pose = [x_pos, y_pos, altitude, roll, pitch, yaw]

if altitude > self.target_altitude - 1:
# as soon as it reaches the target altitude,
# computes the disturbances to go to the given waypoints
if self.getTime() - t1 > 0.1:
yaw_disturbance, pitch_disturbance = self.move_to_target(
waypoints)
tl = self.getTime()

# initiates the image processing and detection routine every 5 seconds
if self.getTime() - t2 > 5.0:

# retrieves image array from camera
cameraImg = self.camera.getImageArray()

# checks if image is successfully retrieved
if cameralmg:



# reshapes image array to (channels, height, width) format
cameraImg = np.transpose(cameraImg, (2, 0, 1))
cameraImg = np.reshape(cameraImg, (3, 240, 400))

# creates RGB image from merged channels
img = Image.new('RGB', (400, 240))
img = cv2.merge((cameraImg[2], cameraImg[1], cameraImg[0]))

# converts image to grayscale
gray = cv2.cvtColor(np.uint8(img), cv2.COLOR_BGR2GRAY)

# loads and applies the Haar cascade classifier to detect humans in image
human_cascade = cv2.CascadeClassifier('haarcascade_fullbody.xml")
humans = human_cascade.detectMultiScale(gray)

# loop, through detected human images, annotates them with a bounding box
# and prints a timestamp and an info message on the console
for (x, y, w, h) in humans:

cv2.rectangle(img, (x, y), (x+w, y+h), (255, 0, 0), 2)

current_time = datetime.now()

print(current_time)

print("Found a person in coordinates [{:.2f}, {:.2f}]"
.format(x_pos, y_pos))

# saves annotated image to file with timestamp

current_time = current_time.strftime("%Y-%m-%d_%H-%M-%S")
filename = f"detected/IMAGE_{current_time}.png"
cv2.imwrite(filename, img)

t2 = self.getTime()

# calculates the desired input values for roll, pitch, yaw,
# and altitude using various constants and disturbance values
roll_input = self.K_ROLL_P = clamp(roll, -1, 1)

+ roll_acceleration + roll_disturbance
pitch_input = self.K_PITCH_P = clamp(pitch, -1, 1)

+ pitch_acceleration + pitch_disturbance
yaw_input = yaw_disturbance
clamped_difference_altitude = clamp(self.target_altitude

- altitude + self.K_VERTICAL_OFFSET, -1, 1)
vertical_input = self.K_VERTICAL_P = pow(clamped_difference_altitude, 3.0)

# calculates the motors' input values based on the desired roll, pitch, yaw, and altitude values
front_left_motor_input = self.K_VERTICAL_THRUST

+ vertical_input - yaw_input + pitch_input - roll_input
front_right_motor_input = self.K_VERTICAL_THRUST

+ vertical_input + yaw_input + pitch_input + roll_input
rear_left_motor_input = self.K_VERTICAL_THRUST + vertical_input

+ yaw_input - pitch_input - roll_input
rear_right_motor_input = self.K_VERTICAL_THRUST + vertical_input

- yaw_input - pitch_input + roll_input

# sets the velocity of each motor based on the motors' input values calculated above
self.front_left_motor.setVelocity(front_left_motor_input)
self.front_right_motor.setVelocity(-front_right_motor_input)
self.rear_left_motor.setVelocity(-rear_left_motor_input)
self.rear_right_motor.setVelocity(rear_right_motor_input)
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» @ Road “road”
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drone_controlerpy £

Copyright 1996-2023 Cyberbotics Ltd.
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return min(max(value, value nin),

Consale - All
INFD: drome_controller: Starting controllert python.exe -u drome_comtroller.py

Folder “detected” created!
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Found & persan in coordinates [-8.28, 8.13]
2023-04-29 10150122, 546551
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Console - Al

Folder "detected” created! o ~N
20253-04-20 10:50:17.093902

Found a person in coordinates [-©.28, ©.13]
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INFO: drone_controller: Starting controller: python.exe -u drone_controller.py
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